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CHAPTER I. GRAMMAR STUDY
PART 1
Uma cywectButenbHoe (The Noun)

CyuwectBuTenbHble 6biBaloT ucuucnsaemoiMm (countable) n Hemcuumc-
nsiembiMu (uncountable).
1.  WNcuucnsemble cyllecTBUTESbHbIE UCMONbL3YIOTCA ANS NpeaMeToB, Ko-
TOpble MOXHO cocyuTaTb. OHU NMET PopMy MHOXeCTBeHHoro yucna (the
plural form) n moryT ObITb UCNOSBL30BaHbI C onpeaeneHHbiM («the») nnu He-
onpeaerieHHbIM (a/an) apTUKIISMU.
2.  Heucuucnsiemble cyLecTBUTENbHbIE UCMONBL3YIOTCA AN 0603HaYeHus
NpeaMeToB, KOTOPble HeNMb3s COCHUTATb Kak OTAesbHble eANHUUbI (BeLLecTBa
n matepmansl: sugar, beer, wood, iron etc.), kak cobupaTtensHblie cyLiecT-
ButeneHble (furniture, rubbish, money etc.) n abcTpakTHble CyLecTBu-
TenbHble (love, hope, nonsense, politeness etc.). 3Tu cywecTBuTenbHbIE
O0ObIYHO UMET TONbKo POpMYy eAUHCTBEHHOro uucna (the singular form)
N He MOryT ObITb UCMNOSIb30BaHbl C HeonpeneneHHbIM apTukiem (a/an). O6-
pa3oBaHne MHOXEeCTBEHHOIO YMcra CyLLeCTBUTENbHbBIX CMOTPU B mabr. 1.
3. B aHmwuinckom A3blke pasnuyaroTcsa ABa nagexa VMMEeHU CyLecTBu-
TenbHoro: oowun nagex (the Common Case) n nputsaxaTenbHbIW Nagex
(the Possessive Case).
4. O6wun napgex — 3TO NageXx C HYNeBbiM OKOHYaHWEM, T.e. Nagex, B
KOTOPOM HeT creuunarnibHoro okoH4yaHusa. dopma obuiero nagexa camocTos-
TenbHO, 6€3 NoMoLLn OOMOMNHUTESbHBLIX CPEeACTB, HE MOXET rnepedasaTb OT-
HOLLUEHNA MUMEHWN CYLEeCTBUTENbLHOMO K APYrMM crosBam B npearioxeHuun. Ta-
KAMW OONOSTHUTENbHBIMU CPEACTBaMN SABMSAOTCA NOPSAO0K CNOB B Npeanoxe-
HUM 1 Npeanorn.

CpasHume:
The professor spoke of great Mpodeccop rosopun o Benu-
Russian scientists. KMX PYCCKUX YYEHbIX.
Students greeted the professor CTyOeHThl npuBeTCcTBOBANM
with loud applause. npodeccopa rpoOMKMMKU annoguc-
MEHTaMMW.
The lecture of the professor INNlekumo npodpeccopa cnywa-

was listened to with great atten- nu c 6onbwnM BHUMaHMEM.
tion.

5. anTﬂH(aTeanblﬁ nagex BblpaXaeT NpuHaanexXHoCTb N COOTBET-
CTBYEeT B PYCCKOM A3blKe poaAUTENTIbHOMY MNageXxy B TOM Cly4ae, Korga oOH
BblpaXaeT MNMpuHaanexXHoCTb. B npeanoxeHnn mMm4a cywecTtBUTElNTbHOE B



cpopme NnpUTA>XXaTerfibHOro naaexa BbINOJIHAET (byHKLI,I/IPO onpeaeneHusn
Apyroro cywectButesibHOro n 3aHnMMaeT MecTo nepen onpegendaemMblMm Cy-
LweCTBUTESIbHbIM.

MecTtoumeHue (The Pronoun)

MecToMMeHUa 3aMeHSAIT cyllecTBuUTeNbHble. Hanbonee BaXHbIMU TU-
namMmu MeCTOMMEHUI ABMATCA:
1) NWYHbLIE MecTouMeHus (mabrn. 2);
nputTaXaTerbHble MeCTOMMeHUs (CM. mabsn. 2);
yKkasaTternbHble MecToumeHna (mabn. 3);
BOMpPOCUTENbHbIE U OTHOCUTENbHbIE MecToumeHns (mabin. 4);
HeonpeaerieHHble MecTouMeHnus (puc. 2, mabn. 7),
BO3BpaTHble U ycunutenbHble MectoumeHus: myself, yourself, himself,
herself, itself, ourselves, themselves, each other, one other.

OOk, WN
N N N N’

Ocobsbie mpyodHocmu (Special Difficulties)
MHorosHa4yHocTb One (mab6. 6)

3HayeHne cnoBa one ycTaHaBMMBalOT B 3aBUCUMMOCTM OT CNeayLLnX
NPU3HAaKOB:
1. One 6e3 apTuKknga unm gpyroro onpeaennTens, cTodllee nepen nmyHomn
doopmon rnarona, aBngeTcsa popmMasibHbIM NoAsiexallium 1 ykasbiBaeT Ha To,
YTO AaHHOEe NnpeanoXeHue ABMSEeTCA HeonpeaenéHHo-NMYHbIM. B aToM cny-
Yae Ha PYCCKUM A3blK one He NepeBoAUTCS, a rnarosi B n4Hon popme nepe-
BOOAT OObIYHO BO 2-M nuue €ANHCTBEHHOrO Yncna unm B 3-M nuue MHOXeCT-
BEHHOro yucna:

One never knows what may Hukorga He 3Haewb, YTO MO-
happen. XeT Cny4nTbCs.

B aTom crniyyae 3a one MOryT crnieqoBaTth rrarofil can, may (MOXHO),
must, have to (HyxHo), should, ought (crneayer).

On a political map one can Ha nonutnyeckon kapte Mox-
see the boundaries of the coun- HoO yBMaeTb rpaHuLbl rocygapcTB.
tries.

2. Ecnu nepen cnosom one ctout aptuknb (the one) nubo gpyrmue onpe-
penvutenun n onpegenexHna (this one, the black one) unn ecnn y one ectb
cyddMKC MHOXECTBEHHOIO Yyucna -s (the ones), OHO BbICTynaeT 3aMeHuTe-
nemM paHee ynoMsiIHYyTOro cyliectBuTeNibHoro. B aTom cnyyae npu nepesoge
Ha PYCCKMIN A3blKk one ObObIYHO OMnycKalT UM NepeBoaAaT COOTBETCTBYOLLUM
CyLLEeCTBUTENbHbIM.



This room is better than that one. 3Ta komHaTta ny4we ToM.
3. Ecnu cnoBo one cTtouTt nepepn CyLeCTBUTESbHLIM, OHO BbICTYNaeT B po-
NN YNCNUTENBHOIO — OOVH.

One day is not enough. OpaHoro gHA HegoCTaTOYHO.
MHoro3sHa4yHocTb IT (mabn. 5)

1. Ecnu mecTtommeHue it BbiICTynaeTt B NpeasioxXeHnn B oyHKUUM noanexa-
LLIero U ero MOXXHO OTHECTU K paHee YNOMAHYTOMY CyLLeCTBUTENbHOMY, it 03-
HayaeT oHO (OH, OHa).

He came to the window. OH nogoLwuen K OkHy.
It was open. OHO 6bINO OTKPLITO.

2. Ecnun mectoumenue it B pyHKUMN nognexawero MOXXHO OTHEeCTU KO BCe-
My npegbiayliemy npeasioxkeHuto, it oaHavaeT aTo.

We are transporting coal over  Mbl nepeBo3umM yrosnb Ha
large distances. It is an expen- GonblUne PaccToAHUSA. ATO
sive business. aoporocrosiliee gerno.

3. Ecnn mectonmenue it B pyHKUMN nognexallero Henb3s OTHECTU K pa-
Hee YNOMAHYTOMY CYLLEeCTBUTESIbHOMY, OHO MOXET ABMNATLCA (PpopmMarnbHbIM
nognexawmm 6es3nmMyHoro npeanoxeHuda. B aTom cniydae it Ha pycckum A3bIK
He nepeBoaUTCS.

It is reported that the experi- CoobuaeTtcs, 4To ONbIThI
ments are going on successful- nNpoxoasaT ycneLHo.
ly.

4. MectoumeHne it MOXeT WUCMnosfib3oBaTbCA B KOHCTpyKumn Tuna «lt
is...that». B aTom cnyyae nepeBoq HayMHaeTCHd CrioBamMu «MMEHHO, Kak pas,
TONbKO».

It was he who helped me. AMEHHO OH nomor MHe.
Umsa npunaratenbHoe (The adjective)

MmeHa npunaraTenbHble B aHMMUMACKOM A3blKE HE U3MEHSAKTCS MO Po-
Aam, Ynucnam n nagexam.

NmeHa npunaratefibHble B aHIMMNCKOM S3blKE M3MEHSIOTCS TONMbKO MO
cTeneHAM cpaBHeHUA. OHN NMEIOT TPU CTENEHN CPABHEHUS: MOSNOXUTENb-
Hyw (the Positive Degree), cpaBHuTenbHyro (the Comparative Degree) n
npeBocxoaHyr (the Superlative Degree).



CpaBHUTENbHAsS M NPEBOCXOAHAasi CTEMEHN B aHIIMNCKOM A3blke obpa-
3yloTCsa AByMSA criocobamu: a) nocpeacTtsoMm npubasneHna cydpgukcos nnu
b) ¢ noMoLL b0 cneumanbHbIX CroB.

Ob6pa3oBaHue cTerneHen cpaBHEHUA npunaraTenbHbIX CMOTPU B mabsi. 8,
ycurieHune cTerneHen CpaBHEHUs npunaraTesnbHbiX U1 CpaBHUTESNbHbIE KOH-
CTPYKUUU cMOTpu B mabsn. 9 n 10.

PART 2

3apaHuA AnNA camonpoBepKU YCBOEHMA rpaMMaTMyecKoro marepmana
(ynpaxxHeHUA-TeCTbI C KITloYamu)

DYHKLUM OKOHYaAHUSA -s (CM. mabs. 1, puc. 1)

3apaHue 1. YKkaxute Homepa NpeanoxXeHnin, B KOTOPbIX OKOHYaHNE «-S»
SBNSETCA NokasaTenem: a) MHOXXEeCTBEHHOrO Yncna UMeHu CyLecTBUTENbHO-
ro; b) nputskatenbHOro nagexa MMeHU CYLLECTBUTESIbHOrO; C) MHOXECT-
BEHHOrO Yucra n NpuUTsXXaTenbHOro nagexa UMeHU CyLeCTBUTENLHOTO.
1. All Belarusian citizens are equal before the law, they enjoy equal
rights and equal duties.
2. All citizens enjoy freedom of speech, that is to say they are free to
voice their opinions on any matter at meetings, in the press, on the ra-
dio and TV.
3. The Belarus’s population is less than 10 million now.
4. Not only people’s wages and purchasing capacity are growing, but
also their needs and demands.
5. The main task facing our people now is to build up the country’s
economy.
6. Scientists and engineers working in the nuclear industry have to
cope with many complex problems.

JInyHble ¥ NnpuTsAXaTenbHble MeCTOMMEHUs (CM. mabJi. 2)

3agaHue 2. Ykaxute HomMepa NpearioXeHun, B KOTOPbIX fNINYHbIEe Me-
CTOMMeEHUs ynoTpebnsalTcsa:a) B UMeHUTENbLHOM nagexe, b) B obbekTHOM
nagexe, C) B UMEHUTESTbHOM U 0OBbEKTHOM Najexe.

1. He is reading the book. 2. The students are talking to him. 3.
Did you see the snake? — Yes, | saw it and it saw me. — Did it frigh-
ten you? 4. Where is Tom? — That’s him over there. 5. Look at that
bird. It always comes to my window. 6.Bill found me a job. 7. | haven’t
seen him for three years. 8. He suggested flying, but | didn’t like the
idea. 9. It's pilots that we need, not ground staff. 10. They need it as
soon as possible.



3apaHue 3. YKaxuTe HOMepa npeanoxeHun, B KOTOPbIX MNpUTSXa-
TenbHble MecTouMeHuns ynotpebnsaiwTca: a) B 1-u dpopme, b) Bo 2-1 op-
Me, ¢) B 1-1 n 2- popme.

1.

Ok W

= © 0N

0.

Helen’s composition is much more interesting than yours or
mine.

Would you like to see some of her latest sketches?

You can very well do without his help.

Their radio-set is always out of order.

The pleasure was all mine.

He has not read a line of yours, how can he criticize your
poems?

Their knowledge of the subject is not much superior to ours.
All our clothes were extremely dirty, and his especially so.
This boat was faster than ours.

If this book is neither hers nor his, it should be mine.

Yka3aTtenbHble MecToMMeHus (cM. mab. 3)

3apaHune 4.YKaxute HoMepa npennoXeHnn, B KOTOPbIX yKa3aTeslbHble
mecTtoumenus this, these, that, those ynotpebnsiwoTtca B ponu: a) onpege-
neHus, b) nognexatlero, C) crioBa-samecTuTens.

1.

2.

ok w

10.

Natural rubber is of higher quality than that produced artifi-
cially.

These factors taken together ensure high production effi-
ciency.

This is the TV set of the latest type.

This refrigerator defrosts itself.

The language in plays is usually easier and more simple than
that in novels.

We shall stay here, at this place. But see! What is there on
that rock?

Those are the lorries carrying our brothers to the mines.
Those people believe in the future too, but they are fighting
forit.

These are the girls who serve in the shop.

The pictures painted by Rembrant and those painted by Ru-
bens have very little in common.

3apaHune 5. B cregyowmx npeanoxeHusx ykasaTernbHble MecToume-
HUA BbICTYNAKT KakK 3aMecTUTeNnun paHee YNOMSAHYTbIX CYLLECTBUTESbHbIX.
HasoBute 3Tn CyLLeCTBUTENbHbIE.

1.

There are no richer art museums in this country than these of
St Petersburg.



2. The electric power output in our country cannot compare to
that of pre-revolutionary Russia.

3. Consumption of bread and potatoes is decreasing steadily
while that of sugar is increasing despite doctors’ recommen-
dations.

4. An important matter is that of raising the effectiveness of ex-
ternal economic relations.

BonpocurtenbHbie U OTHOCUTENbHbIE MECTOMMEHUA
(cm. maé6n. 4)

3apaHne 6. YKaxuTe HOMepa npeanioXeHun, KOTopble COopepXart:
a) BOnpocuTernbHble MECTOMMEHMS, b) OTHOCUTENbHBbIE MECTOUMEHNS.

1. Who pays the bills? 2. The poet whose poems are mentioned
lived in Greece. 3. Who is the inventor of the radio? 4. They returned to
their canoe which they had left in the stream. 5. Which horse has won?
6. He inquired politely after my brother whom he remembered as a
young man. 7. The lecturer repeated the fact that he had mentioned pre-
viously. 8. Whose car broke down? 9. The writer who wrote that novel
was really a genius. 10. Whom do you represent?

MecTtoumeHue it (cm. mabn. 5)

3apaHue 7. YKkaxute Homepa npeanoXeHumn, B KOTOpbIX «it» BbiCTyna-
eT KaK a) NMn4Hoe, b) ykasaternbHOe, ¢) 6e3nnyHoe, B) yCUnnTereHoe.
1. Australia is one of the five continents, but it is much smaller than
the other four.
2. It was important to do away with unemployment in the country.
. Look at the yacht! Itis almost touching the waves with the sails.
Australia is not rich in oil. The USA is selling oil to Australia in
large quantities. It is a very profitable business for the USA.
It will be difficult to solve the problem.
Blame Bill! It was he who chose this colour.
You can take the horse to the water, but you cannot make it drink.
He smokes in bed, though | don’t like it.
It is that electronic equipment is still in great demand.
O It was Peter who lent us the money.

W
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One (cMm. mab6. 6)

3apaHue 8. Ykaxute HOMepa npearioXeHun, B KOTOPbIX CMIOBO One
BbICTYNaeT Kak a) HeonpeaesieHHo-IMYHoe MecToMMmeHne, b) cnoso-
3aMeHUTENb, C) YNCNUTENbHOE OOUH.



. One can hardly imagine modern society without trade unions and

other mass organizations.
Don’t buy the expensive apples; get the cheaper ones.

. There is only one way to do it.

Farming in Siberia is developing in difficult, one could fairly say,
adverse geographical and climatic conditions.

Hard beds are healthier than soft ones.

| lost my old camera; this is a new one.

She made the two rooms into one large room.

Which train did you catch? — | caught the first one.

If you haven’t got a big plate, two small ones will do.

0 One hardly knows what to suggest under the circumstances.

3apaHue 9. B cneayrowmnx npearoXXeHnAax CrioBo one BbICTYNaeT Kak

3aMeHUTEIb paHee YNOMAHYTbIX CYyLeCTBUTENIbHbIX. HaszoBute atu cywecT-
BUTEJIbHbIE.

1.

2.

3.

The scientific and technological problems we have to solve here
are also big ones.

The American economy has become not only gigantic in size, but
also one with high quality indices.

The normal state for a body is one of rest of uniform motion in a
straight line.

Any (cM. mab6n. 7)

3apaHune 10. YkaxuTte npeanoxeHus ¢ MECTOMMEHNEM «any» B 3Ha4e-

HUN «J1II000M Y.

1.

2.

3.

He comes here every day. You can find him in any time between 9
and 6.

Don’t bother about the colour. You can buy her a dress of any co-
lour. She has a perfect complexion and colour becomes her.

Every driver should strictly observe traffic regulations; any driver
who wviolates the regulations in the slightest degree is sure to get
into trouble.

Unemployment means no income and this lack of income hits the
youth especially hard because young people haven’t got any sav-
ings, no «rainy-day» money to fall back on.

CpaBHUTENbHbIE KOHCTPYKUUU (CM. mabs. 8—10)

3apaHue 11. Ykaxute Homepa npeanoXeHuin, B KOTOPbIX BCTPeYatTCs

CpaBHUTENbHbIE KOHCTPYKUNN, UMEIOLLINE 3HAYEHNE: a) TaKom Xe, ... Kak;
b) He Takon, ... Kak; c) 4eMm; d) 4em ... Tem.



. On behalf of their nations the leaders of European countries, the
United States and Canada declared in Helsinki in the summer of
1975 that their countries will encourage the expansion of trade on
as broad a multilateral basis as possible.

. After World War Il Belarus had to build new industries, modernize
plants and manufacture machines, as good as, and often superior
to, those made in the West.

. The better a region is surveyed, the more reliable its potential de-
posits of raw materials and the better its economic prospects.

. In Siberia highways are not so economically effective as a railway
since motor transport over such long distances means vast fuel
expenditure.

. Building density in cities is very high, and the greater the scale of
urbanization, the greater the need for reliable, exhaustive geologi-
cal information.

. There is more water in Lake Baikal than in the Baltic Sea.

Knrou Kk 3aaaHuio 1

a)1,2,6 b) 3,5 c)4
Knrou Kk 3agaHuio 2

a)1,5,8,9 b)2,4,6 c)3,7,10
Knwouv k 3aaaHuio 3

a)2, 3,4 b) 1, 5,9,10 c)6,7,8
Knwou Kk 3aagaHuio 4

a)2,4,6,8 b)3,7,9 c)1,5,10

Kno4 Kk 3agaHuto 5

1) art museums; 2) electric power output; 3) consumption; 4) mat-
ter

Knou4 K 3agaHuto 6

a)1,3,5,8,10 b)2,4,6,7,9

Knwou K 3agaaHuio 7

a)1,3,7 b) 4,8 c)2,59 d) 6, 10
Knwoy K 3agaHuto 8

a)1,4,10 b)2,56,8,9 ¢)3,7

Kniou K 3agaHuio 9

1) problems;  2) economy; 3) state.

Knwou k 3agaHuio 10

1,2, 3

Knwou Kk 3agaHuro 11

a)1,2 b) 4 c)2,6 d) 3,5



PART 3

Tabnuuya 1
Ob6pa3oBaHMe MHOXECTBEHHOro Yucna cywecTBUTeNbHbIX

EanHcTBEH- | MHOXECTBEH-
[MpumevaHune
HOEe YnCcno HOe 4Yncno
A desk Desks [s] [Tocne rnyxmx cornacHbIX -S MPOU3HOCUTCA [S]
A room Rooms [Z] [Tocne rnacHbIX U 3BOHKMX COrMacHbIX -S Mpo-
Nn3HocuTCA [Z]
A box Boxes [iz] [Mocne WnnAWwmMX 1 CBUCTALLINX -€S MPOU3HO-
cutea [1Z]
A story Stories [z] [Mpn npubasneHnn -s -y B KOHLE CrioBa nocne
corrnacHbIX nepexoaur B -|
A day Days [z] [Mocrne rmacHbIX U3MEHEHUW HE NPOUCXOaNT
A knife Knives [Mpn npubasneHnn -s KoHeuYHble -f, -fe nepe-
A loaf [naivz] XO4AT B -ve
A tomato Loaves -0 nocrie cornacHou
A zoo [louvz] -0 nocre rracHoun
Tomatoes
Z00s

Ocob6ble cny4vyaun 06pa3OBaHMﬂ MHOXeCTBEeHHOro 4ymcna
MMEH CyleCTBUTENIbHbIX

EQuMHCTBEHHOE YMCNOo MHOXXeCTBEHHOE YMCIO
Man [maen] MyX4nHa, YenoBek Men [men] MyX4uHbl, fiogu
Woman ['wumadn] XeHLuuHa Women ['wimin] XeHLUWHbI
Foot [fu:t] dyT; cTynHA Feet [fI:t] dyTbI, CTYNHK
Tooth [tu:6] 3y6 Teeth [t1:0] 3ybbl
Child [tJaild] pe6eHok Children ['tildron] netm
®opMbl CylleCTBUTESNbHbLIX TATUHCKOrO U rpe4yeCcKoro NpoucxoXxaeHus
Analysis [6 naldsis] aHanus Analyses [0 'naeldsi:z] aHanu3bl
Basis ['beisis] 6a3unc, ocHoBa Bases ['belsi:z] ocHOBbI
Crisis ['kraisis] kpusuc Crises ['kraisi:z] kpn3uchl
Datum ['deitom] naHHas BenununHa | Data ["deltd] aaHHble, AaHHas
BENUYMHa
Phenomenon [fi'n mindn] aeneHne | Phenomena [fi'n mind] asneHus
Index ykasaTtensb Indexes ['Inddksiz] nHAEKCHI
Indices ['Indisi:z] yka3zaTenu

CyuwecTBUTEeNbHbIE, UMeloLWMe oaHy popmy
€AUHCTBEHHOIro U MHOXXEeCTBEHHOro Yncna




Series ['siori:z] cepwus, psa
Means cpeacTtso, cnocob

Series cepuun, pagbl
Means cpeactsa, cnocobbl




¢l

n pVITﬂ)KaTeanbIﬁ nagex cyuwectBuTenbHbIX

l. O6pas3oBaHune

EonHcTBEHHOE Yncno

VMHOXecTBEeHHOEe Ynucno

The student’s translation
nepeson CTyQEHTOB

The students’ translation
nepeBoabl CTYAEHTOB;
the men’s book

KHUTU MY>XXYUH

Il. YnoTpebneHune

[MputaxaTenbHbIM Nagex ynotpebnserca

C MMeéHaMIn CyLleCTBUTEITbHbIMN, 0603HaYaLWLNUMU:

1) opyLweBneHHble NpegMeThbl

2) NPOMEXYTOK BPEMEHU, pacCTOAHME,

The scientist’s research
nccrnegoBaHme y4eHoro

Ha3BaHuWe CTpaH, ropooB, MeCALEB,
BpeMeH roga (winter, summer)

3) HEKOTOPbIE NOHATUS:
country, nature, world, earth,
sun, moon, war u gp.

A mile’s distance paccTosiHue B 0gHY MUTIIO;
Scotland’s pollution HaceneHune LloTnaHgum

The country’s resources
pecypcbl CTpaHbl

Puc. 1




€l

NMnyHble n npuTAXaTtemnbHblieé MECTONMEHUA

Tabnuya 2

JInyHblEe MEeCTONMEHUS [MputskaTenbHbIE MECTOUMEHNS
2 Nu- meHnTenbHbin nagex | O6GbeKTHbIN Nagex | popma Il dopma
S Ynotpebngaertcs ca-
Lo Ynotpebnsertca Ynotpebnsaerca B Ynotpebnserca
o B pOnu nognexawero | posniv OnNosIHEHNS nepeq CylwecTBUTENbHbIMM MOCTORTENbHO be3
CYLLECTBUTENBHOIO
1-e |l q Me  meHs, MHe My ) Mot ) -
2-e |You Thbl, Bbl You Tebga, Tebe, |Your TBOS, mine
Bac, BaM room  Bawa KOM- yours
S 13-e |He OH Him ero, emy His e ero >HaTa This his
% She oOHa Her ee, en Her ee is | hers
5 It OH, OHa, OHO It ero, emy, Its ) ero, ee ) room _its
I (obo3Ha4vaeT Heoay- ee, en
o LUeBNeHHble Npeame- | (MmeroTcs B BUOY - | (4N9 HeoayLeBreHHbIX npeame-
Thbl, KOTOPbIE B @HrM. HeoayLLEBIIEHHbIE | TOB)
A3blke HEe UMEIT poaa) |npeamMeThl)
1-e |We  Mmbl Us Ham, Hac |Our Halla Kom- [This
o |2€ |You Bbl You Bac, Bam |Your room Bawa Ha- IS ours
2 13-e |They OHM Them unx, um Their nx Ta room yours
o theirs
g (0603HayvaeT n (N8 oayLeBneHHbIX U
x OAYLUEBIIEHHbIE, U |HEOOYLIEBNEHHbBIX NPEAMETOB)
z HeoAYLLEBIIEHHbIE
npeameThbl)
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Tabnuuya 3
Yka3aTtenbHble mectonmeHus this (these), that (those)
Yucno Onpepgenexnve MNopnexaluee CnoBo-3amMeHunTenNb
atoT | This book is This is my book.
© This { ata |mine. OTO MOS KHUra.
ol 9T0 | JTa KHUra Mos.
L ToT |That book is his. |That is his book. |During the Great Patriotic War there were several
@ |That { Ta  |TakHura ero. 370 ero kHura  |examples of self-sacrifice similar to that performed
g TO centuries ago by Ivan Susanin.
= Bo Bpems Benukon OTevyecTBeHHOW BOMHBI BbIS10
L MHOro npumMepoB nNoasuros, NogooHbIx noasury Cy-
CaHWHa, COBEpPLUEHHOMY HECKOJTbKO BEKOB Ha3ap.

These These books are |These are my = |The country is rich in mineral resources. However

3T (3TO) mine. books. these are in the hands of foreign corporations.
ot OTU KHUTN — 9710 Mou kHurn. | CtpaHa 6oraTta nosiesHelMy nckonaembimu. OgHaKo
T MOM. OHW HaxogAaTCA B pyKax MHOCTPaHHbIX MOHOMOSUA.
:.3_3 Those Those books are |Those are his | The successes of the industry stand out even more
3 Te his. books. clearly when comparing its growth rates with those
§ (3TNn) { Te kHurm — ero. | 3710 ero kHurn. |of other countries.
§ TO Ycnexym npoMbILWNIEHHOCTM CTAHOBATCS faxe bonee

OYeBUOHLIMW, ECNIN CPABHUTbL TEMIMbI €€ pocTa C
Temnamu pocTa NPOMbILUNEHHOCTN APYrnX CTpaH.
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Tabnuya 4

BOHpOCMTeanbIe N OTHOCUTEJNIbHbIe MeCTONMEeHNnA

BOI'IpOCI/ITeJ'IbeIe MECTONMEHUNA

OTHOCUTENBbHbIE MECTOUMEHMUS

WHO translated this article? The student WHO translated this article...
KTO nepeBen 3Ty CTaTbio? CTyaeHT, KOTOPbIN |nepeBén aTy cTaThio. ..
WHOSE  |research is that? The scientist WHOSE research is mentioned...
YbE 3TO uccnegosaHue? YyeHbli, YbE nccregoBaHne ynoMmnHaeT-
cs...
WHOM  |will you deliver your lecture to? The students to WHOM you will deliver your lec-
ture...
KOMY Bbl MpOYUTAETE NEKUUN0? CTyaeHThI, KOTOPbIM |Bp| npouyntaeTe nekuuio. ..
WHAT has happened? Nobody knows WHAT has happened.
4TO Crny4nnocb? HukTO He 3HaeT. 4TO CNy4mnocs.
WHAT are the mineral resources of the Experts did not know WHAT the mineral resources of this
country? country were.
KAKOBbI |nonesHble uckonaemble CTpaHbl? | QKCNEPTLI He 3Hanu, KAKOBbl  |nonesHble uckonaemble
3TOWN CTPaHbI.
WHAT help will you give us? | will give you WHAT help | can
KAKYIO  |nomollb Bbl HAM OKaxeTe? A okaxy BaM Ty nomoub. | KAKYIO TONbKO CMOrYy OKasaTb.
WHICH  |of the articles interests you most? | The task WHICH the students carried out...
KOTOPAA |13 cTaTen nHTepecyeT Bac 6orb- |3agaHue, KOTOPOE | gLinonHMNM CTYAEHTHI. ..
(KAKAR) |\11e Bcero? Lomonosov was the THAT the world has ever know.
greatest scientist
NomoHocoB 6bin Benu- | KOTOPOIo

YanLNM YYEHDBIM,

korga-nmbo 3Han Mup.
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Mectoumenunss MUCH, MANY, FEW, LITTLE

Many mMHoro
mMano

Few

Ncuncnsemble cyuiectBuTEsibHbIE

oAyLLeBrneHHble

Many students
MHoro cTtyoeHToB

Few people
Mano nogen

HeodyLleBI1€HHbIe

Many factories
MHoro ¢pabpuk

Few buildings
Mano 3gannn

Much
Little

MHOro
Marno

Heuncuucnaemble cywiectBuTEsbHbIE

Ha3BaHue BellecTB

ABCTpaKkTHbIE MOHATUSA

Puc. 2

Much steel
MHoro ctanu

Little air
Mano Bo3gyxa

Much work
MHoro paboTbl
Little work
Mano paboTbl
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Tabnuya 5
MecTtonmeHue IT

1. llnyHoe (OH, OHa, OHO — 3a-

1. Though Pinsk is an industrial city it does not know smog.

MeHAeT HeoyLueBrieHHOe CcyLle- XoTa MNuHCcK — I'IpOMbILLIJ'IeHHbIIZ ropoad, oH He 3HaeT cMora.

CTBUTESIbHOE)

2. YKkasaTtenbHoe (370)

2. In the North we are building everything that people need for normal life and
work. It is an expensive business and technically very complicated.

Ha ceBepe Mbl CTpouM BCe, 4TO HEOHXOOUMO NIDAAM AN HOPManbHOW XU3HU K
paboTbl. 3TO AOPOrocTosiLee U TEXHUYECKN OYEHb CMOXHOE Oeno.

3. BeanuyHoe (He nepesoaguTtca) |3. It is important to note that in Belarus shorter hours do not mean less wages.

BaxkHo oTMeTUTb, 4YTO B Benopyccuu Gonee kopoTkasa paboyas Heaens He 03Ha-
YyaeT CHDKEeHWUs 3apaboTHOW nnaThbl.

4. YeunnutenbHoe (Itis ... that — |4. It is the peace policy of our republic that has such an influence on the peaceful

MMEHHO, KaK pas, TOJ'IbKO)

international cooperation.
MmeHHO MuponioburBasg nonmMTrka Hawen pecnybnukmn okasbiBaeT Takoe BINSHUE
Ha OCyLLeCTBMEHME MUPHOTO MeXAyHapO4HOro COTPYAHNYECTBA.

Tabnuya 6
ONE

1. HeonpepeneHHo-NM4YHOE

ONE

MecToOuMeHMue (He nepeso-
anTcs)

one + may, can MoXHo, must, ought HyxHo, should cnegyeT.

One can spend days in the Hermitage in St Petersburg.

MoxkHO npoBecTn MHOro aHen B Qpmutaxe B CaHkT-lNeTepbypre.

It was in agriculture that one could see the extreme backwardness of that country.
MMeHHO B cenbCKOM X035CTBE NMPOSABNANACh UCKNIOYNTENBHAsS OTCTANOCTb TON
CTpaHbl.

2. CnoBo-3amMeHUTenNb (Ne-
pPeBOAMTCSH COOTBETCTBYHO-

LLMM CYLLLECTBUTENbHbLIM UMK
He nepeBoauTCs BoobLe)

The efficiency of the new method is much higher than the efficiency of the old one.
It differs greatly from the one used at our enterprise.

AP PHEKTUBHOCTb HOBOIO METOAA 3HAUYMTENBHO BhiWe, YeM 3(PPEKTUBHOCTb CTapo-
ro metoga. OH 3HauUMTENbHO OTNMYaeTcs OT MeToAa, MPUMEHSIEMOrO Ha HalleM
npeanpusaTun.

3. YucnntenbHoe oOuUH

One swallow does not make a summer.
OpHa nacTto4ka BecHbl He genaeT. ([locnosunua)
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Tabnuya

Mectonmennsa SOME, ANY, NO 1 nx npousBogHble

+ thing

+body +one

Some, any, no +where Mpumepsbl
(HeogyLw.) (o0 yenoseke)
SOME Something Somebody, someone | Somewhere They sent some letters to foreign
HekoTopbin, YTto-TO, KT0-TO, KTO-HMOYAOb ne-To, roe- firms yesterday.
o Kakou-To, HYTO-HMBY AL HUBYAp, KYAa-To, {ouy OTNPaBUMMN HECKOMBKO NUCEM UHO-
3 g | kaKor-Hubyap, KyAa-HnGyAp CTpaHHbIM MpMam Byepa.
4 I |HEecKonbko
GE’ 5 |ANY Anything Anybody, anyone Anywhere The CMEA is open to any country ready
g g | Becakun, Bce Bcskuin, Bce Besge, nosctogy |[to accept the aims and principles of the
o 8 |noboit organization.
< = Bctynnenve B COB BO3MOXHO Ans nio-
6o CTpaHbl, FOTOBOMW NPUHATL LEnu u
NPUHLMMNbI OpraHmn3aunm.
: ANY Anything Anybody, anyone Anywhere Does the country buy any equipment
= CI':> Kakon-umbyap |Yto-TO, KT0-TO, KTO-HMBYAOb pe-to, kyga-to, |from foreign firms?
GE’ 3 Z YTO-HMOYAOb roe-Hnbyab, Kyaa- |MNokynaet nu ata ctpaHa obopyaosa-
g e3d HNBYab HUe Y MHOCTPaHHbIX hrpm?
2o X
8z
b, NO = notany |Nothing =not... |Nobody = no one, Nowhere = not... |No city of the world can boast of the
3 FZ Hukakon, anything Not... anywhere purity of its atmosphere as Minsk.
o 2 T |HW OfMH Hwnyto, HM4ero |anybody Hurge, HUKyaa Hwn ognH ropog Mupa He MOXeT noxea-
=] o § HukTo cTaTbCs TaKoW YMCTOTOM aTMOCdEpHI,
g— 25 kak MuHCKk.




Tabnuya 8

CTteneHn CpaBHEeHuA npunaratTeribHbiIX N Hapeqvn?l

I'IpmnaraTeanble

MNonoxutenbHaga
CTerneHb

CpaBHuTenbHas
cTeneHb

lMpeBocxogHas cTeneHb

1. OgHOCnOX-
Hble

2. IByxcnox-
Hble Ha -er, -y, -
ow, -le

Shot — kopoTkui
Early — paHHui,
paHo

Short — kopoue
(bonee kOpOTKMIA)
Earlier — 6onee
paHHWUW, paHbLUe

(the) shortest —
KpaTyaunLmn, camblin KO-
pPOTKMI

(the) earliest — cambin
paHHUI

MHorocnox-Hble

Important — BaxHbIN

More impor-
tant — BaxHee (60-
nee BaXHbIN)

(the) most important —
Ba)XHEWLLUUIA, caMbIn
BaKHbIN

UcknroveHus

Mash — mHoro
Many —
Little — mano

Good — xopowun
Well — xopowo

Bad — nnoxon
Badly — nnoxo

More — 6onbLue
Less — meHbLue
Better — nyuwwimn
Worse — xyawmn,
XyXe

(the) most — Hanbonb-
w1, BonbLue BCEro
(the) least — HaMeHb-
LUNIA, MEeHbLLE BCEro
(the) best — cambin
nyywmm, (Ham)ny4yLwmn,
nydwe Bcero (Bcex)
(the) worst — cambin
NIoXon, (Han)xygLwumn,
Xy>Xe BCEro (Bcex)

Tabnuya 9

YcuneHue cteneHen CpaBHeHUsA npunaraTesribHbIX

a) B NONOXUTENbHON CTENEHU
a most difficult — (kpanHe) B BbICLIEN CTENEHN TPYAHbLIN
ever so interesting — ype3BblYaNHO NHTEPECHbIN

YcuneHue cteneHen cpaBHeHUA NpunaratenbHbIX:

only too glad — o4eHb 40BOSIbHbIN

0) B cpaBHUTENILHOWN CTENeHU

much more advanced — 3HaunTenbHO (ropasno) bonee nepenosble
a great deal faster — ropasgo 6bicTpee

still easier — ewle nerye

an ever greater scope — 3HaunTenbHO 60MbLUION pa3max

far better — HamHoro nydwe

(all) the more complicated — eLue crnoxHee

no better — HUCKONLKO He nyuywle

not any clearer — HUYYTb He ICHEN

B) B NPeBOCXOAHOWN CTENEeHU
by far the best — 3HaunTenbHO NpeBocxoasALLMIA
the nearest ... possible bnmxanwunn ... — Kakown TONbKO BO3MOXKEH

the cheapest ... to be found — cambIn geLLEBLIN ... KAKOW TONBKO MOXXHO HaAWUTKU
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Tabnuuya 10
CpaBHUTENbHbIe KOHCTPYKLUUMN
KoHcTpyKUMA [lepeBof, YnotpebrneHue [Mpnmep
C coto3om Takon xe B ytBEepauTenbHbIX To judge by the number of people for whom it is
as ... as ...KaK, TaKk XXe | npeasioxXeHnax the staple crop, rice is as important a food crop as
. Kak wheat.

Ecnu yyntbiBaTh KONMYecTBo notpeburtenemn pu-
ca Kak OCHOBHOTO CeJIbCKOXO3ANCTBEHHOrO Mpo-
AYKTa, TO OH SIBMSAETCA TakKUM XXe BaXKHbIM, KaK
nweHnua.

C coto3om He Takom ... B otpuuatensHbix npen- | Old enterprises were usually not so spacious and

not so ...as Kak, NOXEHUAX well-equipped as new ones.

He TaK ... KakK CTtapble npeanpuatnsa obbl4HO He Oblnu Tak npo-

CTOPHbI 1 XopoLo 0bopyaoBaHbl, Kak HOBbIE.

C coto3om Uem (MoxeT [Tocne cpaBHUTENLHON Rice, which is grown mainly on irrigated land, is a

than onyckaTbCcsl) CTerneHu much more productive crop than wheat for certain
regions.
Puc, koTopbi pacteT rmaBHbiM obpasam Ha no-
NMBHBIX 3eMNAX, — ropasgo bonee NnponssBoaun-
TenbHas CefibCKOXO3ANCTBEHHAA KynbTypa aAngd
HEKOTOPbIX PErMOHOB, YEM MNLUEHULA.

The (bigger) ... | Yem ... Tem The + npunaraTtensHoe The bigger the plan of an enterprise the bigger

the (bigger)

(Hape4wne) B cpaBHU-
TeNbHOW CTEMNeHu ... +
the + gpyroe npunara-
TenbHoe (Hape4une) B
CpaBHUTESIbHON CTEMNEHU

the profit it gets.
Uem Bonblie nnaH npeanpusatnd, Tem bonblue
NpUBLINb, KOTOPYID OHO NoJslyvaeT.




CHAPTER Il. READING PRACTICE
PART 1

INDEPENDENT READING PRACTICE
FOR FIRST YEAR STUDENTS OF THE FACULTIES
OF COMPUTER-AIDED DESIGN, RADIO ENGINEERING
AND TELECOMMUNICATIONS

UNIT I

I Read the text. Then read the titles. Which of the following titles is the best?
a) Radio and Electronic Devices.
b) Radio Waves.
c) The Birth of Radio.
d) Radio and TV.

Today we don’t think twice when we turn on the radio, but when a 21-year-old Italian invented it over 100 years
ago no one could believe their ears.

One day in 1895 in Bologna, Italy, an ltalian engineer sent the world’s first radio signal. Using a simple radio
transmitter and a receiver, he sent a signal from his attic room to his brother who was hidden in a field a kilometer
away. 1 . The ltalian government showed no interest in young Marconi’'s invention, but his mother believed he
had a good idea. So in February of the following year, she sent him to England to meet her cousin who was an impor-
tant engineer.2

In England this engineer and his cousin were joined by two other inventors. In 1897 he formed the Wireless
Telegraph Company in London and started to transmit simple radio signals over long distances. In 1899 he sent the
first wireless telegraph across the English Channel to France. 3



He had always believed that radio waves could travel round the curve of the earth. By 1901 he had improved
his radio system so much that on 12" December he astonished the world by sending the first radio signals across the
Atlantic Ocean. 4 . His system was soon adopted by the British and ltalian ‘navies. From now on, his company
had the monopoly of wireless communication and he became a multi-millionaire.

This engineer is one of the key figures of the twentieth century. He even recognized the military importance of
radar and thought of the idea of sending radio signals out into space. When he died in 1937, wireless stations all over
the world closed down for two minutes as a mark of respect. He made only one big mistake. 5

1. Read the text again. Choose the best sentence from the list below to complete each gap.
a) They were transmitted from Poldhu in Cornwall, and were received 3,520 kilometres away in St John’s,
Newfoundland, using an aerial flown in the air by a kite.

b) When his brother received the signal he fired a gun.

C) He thought that television would never become popular.

d) This meant that ships were now able to send messages from ship to shore if they were in distress.
e) It was a journey that would change the world.

lll. Choose the best answer to these questions according to the text.
1. Who invented the radio?
a) a French engineer,
b) an American engineer,
c) an ltalian engineer.
2.  What was the ltalian government’s attitude towards this invention?
a) The ltalian government was interested in this invention.
b) The Italian government didn’t believe that this invention was very useful.
c) The ltalian government wasn’t interested in this invention.
3.  Who helped this Italian engineer to continue his work?
a) American engineers,
b) His cousin and two other inventors,



c) ltalian scientists.
4. Why was this invention so important for the British and Italian navies?
a) Because it was very cheap.
b) Because it helped the ships to send messages from ship to shore if they were in danger or difficulty.
c) Because they wanted to use it against the USA navy.
5. What was the only mistake made by the inventor?
a) He didn’t recognize the importance of radar.
b) He didn’t recognize the importance of telegraph.
c) He didn’t recognize the importance of television.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.
1. invent a) if you invent something, you are the first person to think of it or make it.
b) if you invent a story or excuse, you try to persuade people that it is true when it is not.
2. transmit a) when a message or electronic signal is transmitted, it is sent by radio waves.
b) to transmit something to a different place or person means to pass or send it to the place or per-
son.
3. wave a) a wave is a raised mass of water on the sea or a lake, caused by the wind.
b) wave is used to refer to the way in which things such as sound, light, and radio signals travel, or
the way in which the force of an explosion or earthquake spreads.
4. space a) space is the area that is empty or available in a building or container.
b) space is the area outside the Earth’s atmosphere.

Find words and expressions which mean the same as the following.
give something a second thought

made better

amazed

total control

Pwbd~2<



5. a person with a lot of money
VI. Make a written outline of the text (5-6 sentences).
UNIT II

I Read the text. Then read the titles. Which of the following titles is the best.
a) TV and Radio.
b) TV Companies.
c) TV and «University of the Air».
d) TV and Violence.

Watching television is one of the great British pastimes! Broadcasting in the United Kingdom is controlled by the
British Broadcasting Corporation (BBC) and the Independent Broadcasting Authority (IBA). 1

National radio is controlled by the BBC, and listeners can choose between four stations. Radio 1 is a pop-music
station with news and magazine-style programs. Radio 2 plays light music and reports on sport. 2 . There are
many local stations, some private and some run by the BBC. Their programs consist mainly of music and local news.

The BBC has two TV channels. BBC 2 has more serious programs and news features. The IBA is responsible
for looking after the regional independent TV companies who broadcast their own programs and those they have

bought from other regions. There is a break for advertisements about every 15-20 minutes. 3 . In general, people
think the programs offered on British television are of a very high standard. 4
TV and radio are also two of the main teaching channels used by the Open University. 5 . They also have

to do without sleep as most of their programs are broadcast early in the morning or late at night!
New technology has made it possible for viewers to receive many more programs into their homes through sa-
tellite TV. The 1990s may well see many changes in British TV and radio.

ll. Read the text again. Choose the best sentence from the list below to complete each gap.
a) Radio 3 plays classical music whilst Radio 4 has news programs, drama and general interest programs.



b) The BBC receives its income from the government, but the private companies controlled by the IBA earn
money from advertising.

c) Some people, however, are becoming worried about the amount of violence on TV, and the effect this may
have on young people.

d) This ‘university of the air’, allows many thousands of students to study at home for degrees they would never
have obtained in the main educational system.

e) The most recent independent channel is called Channel 4 and it has more specialized programs than the
main channels.

lll. Choose the best answer to these questions according to the text.
1. Who is broadcasting in the United Kingdom controlled by?
a) Itis controlled by the Prime Minister.
b) It is controlled by the BBC and the IBA.
c) ltis controlled by the government.
2. Which station plays a lot of classical music?
a) Radio 1.
b) Radio 2.
c) Radio 3.
3. Whatis the IBA responsible for?
a) It is responsible for earning money from advertising.
b) It is responsible for looking after the regional independent TV companies.
c) It's responsible for education.
4.  What do people think about the programs offered on British television?
a) They think they are of a very high standard.
b) They think the programs leave much to be desired.
c) They think that there are few educational programs on British television.
5.  Why is ‘university of the air’ so popular among the young people?
a) A lot of light music is played there.



b) This university gives them the opportunity to study at home.
c) It has news programs, drama and general interest programs.

IV. Here are some dictionary definitions of words from the text. Each word has more then one definition. Choose
the definition that fits each of the words in the text best.
1. feature a) your features are your eyes, nose, mouth, and other parts of your face.
b) a special article in a newspaper or magazine, or a special program on radio or television.
2. break a) a short period of time when you have a rest or a change from what you have a rest or a change
from what you are doing.
b) a lucky opportunity; an informal use.

3. standard a) a level of quality or achievement.
b) moral principles which affect people’s behaviour.
4. change a)if there is a change in something, it becomes different.
b) the money that you receive when you pay for something with more money than it costs.

Find words and expressions which mean the same as the following.

services or industries that are owned

by an individual person or group

something that exists, happens, or acts separately from other people or things

a large business or company

the activity of telling people about products, events, or job vacancies, and making them want to buy the prod-
ucts, go to the events, or apply for the jobs

oo~

VI. Prepare a written short summary of the text.
UNIT HI

l. Read the text. Then read the titles. Which of the following titles is the best?



From the History of Mainframes.
From the History of Personal Computers.
From the History of Xerox Corporation.

a
b
C
d) From the History of Digital Research.

)
)
)
)

Il Read the text again. Choose the best sentence from the list below to complete each gap.

In 1952, a major computing company took a decision to get out of the business of making mainframe com-
puters. They believed that there was only a market for four mainframes in the whole world. That company was
IBM. 1 :

In 1980, IBM decided that there was a market for 250,000 PCs, so they set up a special team to develop the
first IBM PC. It went on sale in 1981 and set a world-wide standard for IBM — compatibility which, over the next ten
years, was only seriously challenged by one other company, Apple Computers. Since then, over seventy million PCs
made by IBM and other manufactures have been sold. 2__ .

The history of the multi-billion dollar PC industry has been one of mistakes. Xerox Corporation funded the initial
research on personal computers in their Palo Alto Laboratory in California. However, the company failed to capitalize
on this work, and the ideas that they put together went into the operating system developed for Apple’s computers.
3 :

The first IBM PC was developed using existing available electrical components. When IBM were looking for an
operating system, they went initially to Digital Research, who were market leaders in command- based operating sys-
tems (4 ). When the collaboration between IBM and Digital Research failed, IBM turned to Bill Gates to write their
operating system.

Bill Gates founded Microsoft on the basis of the development of MS/DOS, the initial operating system for the
IBM PC. Digital Research have continued to develop their operating system, DR/DOS, and it is considered by many
people to be a better product than Microsoft’'s. However, without an endorsement from IBM, it has become a minor
player in the market. 5~

The cost of buying the hardware has come down considerably as the machines have become commodity items.
Large companies are considering running major applications on PCs, something which, ten years ago, no one would



have believed possible of a PC. In contrast, many computers in people’s homes are just used to play computer
games.

The widespread availability of computers has in all probability changed the world forever. The microchip tech-
nology which made the PC possible has put chips not only into computers, but also into washing-machines and cars.
Some books may never be published in paper form, but may only be made available as part of public databases.
Networks of computers are already being used to make information available on a world-wide scale.

a) these are operating systems in which the users type in commands to perform a function.
b) Over this period, PCs have become commaodity items.
c) Novell, the leaders in PC networking, now own Digital Research, so things may change.
d) The following year they reversed their decision.
e) This was a graphical interface: using a mouse, the user clicks on icons which represent the function to be per-
formed.
lll. Choose the best answer to these questions according to the text.
1. How many mainframes did IBM think it was possible to sell in 19527
a) a hundred,
b) four,
c) 250,000.
2. Which company was IBM only contested by?
a) Xerox Corporation,
b) Digital Research,
c) Apple Computers.
3. Who paid for the first research into PCs?
a) IBM,
b) Novell,
c) Xerox Corporation.
4. Which company later used the results of this research?



a) IBM,
b) Apple Computers,
c) Novell.
5. Which company turned to Bill Gates to write their operating system?
a) IBM,
b) Apple Computers,
c) Digital Research.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose the
definition that fits each of the words in the text best.
1. team a) a group of people who play together against another group in a sport or game.
b) a group of people that work together.
2. command
a) if you command someone to do something, you order him to do it.
b) a special sentence used in programming languages.
3. system
a) a way of organizing or doing something in which you follow
a fixed plan or set of rules, also a particular set of rules (or programs in computing), especially in
mathematics or science.
b) whole institution or aspect of society that is organized in a particular way.
4. mouse a. a device used to point at a location on a computer screen.
b. a small furry animal with a long tail.
V.  Find words and expressions which mean the same as the following.
1. international
2. contested
3. errors
4. paid for



5. recommendation
VI. Read the text again and make a written outline of it.
UNIT IV

l. Read the text. Then read the titles. Which of the following titles is the best?
1 Portable Computers.

2. Desktop Computers.

3. Clipboard Computers.

4 Mainframe Computers.

.  Read the text again. Choose the best sentence from the list below to complete each gap.

For the last generation, Silicon Valley and Tokyo have been working to design computers that are ever easier to
use. There is one thing, however, that has prevented the machines from becoming their user friendliest: you still have
to input data with a keyboard, and that can require you to do a lot of typing and to memorize a lot of elaborate com-
mands.

Enter the clipboard computer, a technology that has been in development for the last 20 years but took hold in
the mass market only this year. Clipboard PCs —which, as their name suggests, are not much bigger than an actual
clipboard — replace the keyboard with a liquid crystal display (LCD) screen and an electronic stylus. 1

There are two technologies at work in-a clipboard PC: one allows raw data to get into the computer and the oth-
er allows the computer to figure out what that data means. The first technology relies principally on hardware and va-
ries depending on the particular computer. In one system, marketed under the name GRID Pad, the computer’'s LCD
screen is covered by a sheet of glass with a transparent conductive coating. Voltages are sent across the glass in ho-
rizontal and vertical lines forming a fine grid; at any point on the grid, the voltage is slightly different. When the stylus
— which is essentially a voltmeter — touches the screen, it informs the computer of the voltage at that point. 2 .
The position of the stylus is monitored several hundred times a second, so as the stylus moves across the glass,
whole strings of pixels are activated.



Making that writing comprehensible to the computer, however, requires the help of some powerful software.
When the stylus is being used, the computer is programmed to look for moments when the tip does not touch the
screen for a third of a second or more. 3 . The pixel positions of this fresh character are then passed on to the
computer’s pattern recognition software, which instantly identifies the letter or number written.

The software does this by first cleaning up the character — smoothing out crooked lines and removing errant
dots. 4 . When the computer finds the closest match, it encodes the character in memory and displays it on the

screen as if it had been typed. 5 . To move to the next page, you flick the stylus at the bottom of the screen as if
you're flicking the page of a book.

a) The computer uses this information to determine where the stylus is and causes a liquid crystal pixel to appear
at those coordinates.

b) The remaining lines and curves are then compared with a series of templates in the computer's memory that
represent hundreds of thousands of different versions of every letter in the English alphabet and all ten numer-
als.

c) Users input data by printing individual letters directly on the screen.

d) To delete a word, you simply draw a line through it.

e) Every time this happens the software assumes that one letter or number has been written.

lll. Choose the best answer to these questions according to the text.
How big is a clipboard PC?
a) It is smaller than an actual clipboard.
b) It is not much bigger than an actual desktop computer.
c) It is not much bigger than an actual clipboard.
1. How does the computer know when one letter or number is complete?
a) The software decides that one character or number is complete if the tip of the stylus is not in contact with the
screen for more than half a second.

b) The computer is programmed to look for moments when the tip does not touch the screen for a third of a
second or more.



c) The computer gives a user one second for each letter or number.
2. How can you delete a word after you have written it?
a) You must clean the screen with a special piece of cloth.
b) You must write a word ‘delete’ on the screen.
c) You draw a line through it.
3. How can you change the page?
a) You must write ‘next page’ on the screen.
b) You must draw a line at the top of the screen.
c) You must flick the stylus at the bottom of the screen.
d. Does a clipboard computer have a keyboard?
a) On a clipboard, an electronic pen replaces the traditional keyboard.
b) A clipboard computer uses a keyboard instead of a stylus.
c) Every clipboard computer has a keyboard and a stylus.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.

1. stylus a) a pointed implement for drawing or writing.
b) an electronic device that is used to draw or write on the screen.
2. sheet a) alarge, flat, thin piece of glass, metal or wood.
b) a large rectangular piece of cloth, used on a bed.
3. letter  a) a written symbol which represents a sound of a language.
b) a message on paper that you send to someone.
4. memory a) your ability to remember things.
b) a device or medium which can store information.

V. Find words and expressions which mean the same as the following.
1. understand
2. covering



3. points

4. made by mistake

5. move quickly and sharply

VI. Make am outline of the text in 5-7 sentences.

UNIT V

Read the text. Then read the titles. Which of the following titles is the best?
Robots and Their Masters.

Robots in Education.

Robots in Medicine.

Robots: Past, Present and Future.
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1. Read the text again. Choose the best sentence from the list below to complete each gap.

The word ‘robot’ was invented by the Czech playwright, Karel Capek. It comes from the Czech word for ‘work’.
In Capek’s play RUR (Rossum’s Universal Robots), which came to London in 1921, the robots became so intelligent
and so disillusioned with their human masters that they revolted. They destroyed the humans and created a new
world inhabited only by robots. 1 .

In 1954, the American inventor George Devol began work that eventually led to the industrial robot as we know
ittoday. 2 . Since then, many companies have entered the robotics market.

Between 1967 and 1969, researchers at the Stanford Research Institute in the United States developed a robot
with wheels named Shakey. Shakey was fitted with bump detectors, a sonar range finder, and a TV camera. 3 .
However, at the time, Shakey was thought to be a failure. This was because it could only be controlled by a separate
mainframe computer, which sent its. commands to the robot through a radio channel.

The next important step was the development of robots with legs. In 1967, the General Electric Corporation had
developed a four- wheeled machine for the US Department of Defense. The machine carried a human operator who
had to control each of the fourlegs. 4 .



Later devices were more successful — for example, a four-legged robot developed at the Tokyo Institute of
Technology in 1980. This system combined a human controller with automatic processing of information about the
terrain, right down to the foot movements needed to ensure smooth movement.

In 1983, a six-legged robot was developed by Odetics Incorporated, for commercial production. 5 . This
machine could walk over obstacles and lift loads several times its own weight.

Meanwhile, research continues on machines that rely on one or twolegs. In 1984, Marc Raibert developed one-
legged hopping robots at Carnegie Mellon University in the USA.

a. His company, the Unimation Company, developed flexible industrial
machines and began to market them in the early sixties.
b. This was an extremely difficult job for the driver, and the machine regularly became unbalanced and fell over.
c. A battery-powered model, Odex I, used a radio channel for leg control and a video link for conveying images.
d. All three helped Shakey to move freely and avoid obstacles.
e. This theme of ungrateful robots rebelling against their human creator is one that has been used by many science
fiction writers.

lll. Choose the best answer to these questions according to the text.
1.  Who invented the word ‘robot’?
a) American scientists,
b) Czech scientists,
c) the Czech playwright.
2.  When did George Devol begin his work that led to the industrial robot?
a) in 1921,
b) in 1954,
c) in 1967.
3.  Where was a robot with wheels named Shakey developed?
a) in the UK,
b) in the USA,



c) in Canada.
4.  What corporation developed robots with legs?
a) the British Broadcasting Corporation,
b) Xerox Corporation,
c) the General Electric Corporation.
5.  What kind of robot was developed by Odetics Incorporated?
a) a one — legged hopping robot,
b) a four — legged robot,
c) a six — legged robot.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.
1. play a) to spend time with toys or taking part in some games.
b) a piece of writing performed in a theatre, on the radio, or on television.
2. work  a)to do the tasks which your job involves, or a task needs to be done.

b) the tasks which your job involves, or any tasks which need to be done.
3. master a) the man a servant works for.
b) if you master something, you manage to learn it.
4. step a) if you step in particular direction, you move in that direction.
b) one of a series of stages, or a single action taken for a particular purpose.
V.  Find words and expressions which mean the same as the following.
1. a person who writes plays,
2.  work that involves studying something and trying to discover facts about it,
3. something that is unsuccessful,
4. orders,
S5. someone who is employed to operate or control a machine.



VI. Make am outline of the text in 57 sentences.
UNIT VI

l. Read the text. Then read the titles. Which of the following titles is the best?

1. New Models of Robot in Stock Now.

2.  Humans Against Robots. Who is the Best?

3.  Atrtificial Intellect — Reality or Fiction?

4.  The Robotics Revolution.

Il. Read the text again. Choose the best sentence from the list below to complete each gap.

Many of the robots in use today do jobs that are especially difficult for human workers. These are the types of
jobs that require great strength or pose danger. 1 . A welding tool used by a human worker weighs about 100
pounds or more and is difficult to handle. As mechanical supermen, robots may be called upon to do anything from
moving heavy components between workstations on a factory floor to carrying bags of cement.

Spay painting is another task suited to robots because robots do not need to breathe. 2 . Robots are bet-
ter at this task, not because they are faster or cheaper than humans, but because they work in a place where humans
cannot.

Third in the list of useful jobs for robots is the assembly of electronic parts. Robots shine at installing chips in
printed circuit boards because of a capability that robots have that people don’t. 3 . This automatic accuracy is
particularly valuable in this kind of industry because locating and fixing mistakes is costly.

Earlier robots were usually blind and deaf but newer types of robots are fitted with video cameras and other
sensing devices that can detect heat, texture, size, and sound. 4 .

In their efforts to expand the range of robotic applications, researchers are looking beyond traditional designs to
examine a variety of potential models from the biological world. The industrial arm is a classic example. Scientists
have been able to model robots to imitate the vertebrate spine of a snake in order to paint the interior of automobiles.
5



The challenge of equipping robots with the skills to operate independently, outside of a factory or laboratory,
has made heavy demands on the ingenuity and creativity of academic, military, and industrial scientists for years.
Simply put, robot hands — like robot legs, or eyes, or reasoning powers — have a long way to go before they can ap-
proach what biological evolution has achieved over the course of hundreds of millions of years. Much more will have
to happen in laboratories around the world before robots can be compared to nature’s handwork.

In the meantime, the robotics revolution is already beginning to change the kind of work that people do. The
boring and dangerous jobs are now performed by robots. By the turn of the century, more and more humans will be
required for tasks that machines cannot do.

a) These robots are used in space projects, nuclear reactor stations, and underwater exploration research.

b) Unlike human painters, they are unaffected by the poisonous fumes.

c) For example, robots are particularly useful in the auto-manufacturing industry where parts of automobiles must
be welded together.

d) They have simulated the muscle structure and movement of an elephant’s trunk in an attempt to create a robot-
ic arm capable of lifting heavy objects.

e) A robot, once properly programmed, will not put a chip in the wrong place.

lll. Choose the best answer to these questions according to the text.
1. What kind of job do robots do today?

a) They usually do the types of jobs, which are interesting for human workers.

b) They usually do the types of jobs, which are very simple for human workers.

c) They usually do the types of jobs, which are very dangerous and require great strength.
2.  Why do robots do very well at installing chips in printed circuit boards?

a) Because robots work very quickly.

b) Because this kind of job is very dangerous for people.

c) Because robots have the ability to put a chip in the proper place if they are once programmed properly.
3.  Where do researchers try to find examples of potential models?

a) in the technical world,



b) in the chemical world,
c) in the biological world.
4.  What do researchers try to teach robots to do?
a) They try to teach robots to operate independently, outside of a factory or laboratory.
b) They try to teach robots to fly.
c) They try to teach robots to write fiction books.
5.  What kind of jobs will more and more humans be required for by the
end of the century?
a) for jobs which are too dangerous for robots.
b) for jobs which are too easy for robots.
c) for jobs which only humans can do.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.
1. examine a) if you examine something, you look at it or consider it
carefully.
b) if a teacher examines you, he or she finds out how much you know by asking you questions or by
making you take an examination.
2. model a) a model is a three- dimensional copy of an object,
usually one that is smaller than the object.
b) if a system is used as a model, people copy it in order
to achieve similar results.
3. handle a) the part of an object that you hold in order to carry it or
operate it.
b) if you handle something, you hold it and move it about
in your hands.
4. assembly a) a large number of people, gathered together, especially a group of people who meet regularly to
make laws.



b) the assembly of a machine or device is the process of
fitting its parts together.

V. Find words and expressions which mean the same as the following.
manipulate

correcting

expensive

increase

. copy
VI. Make am outline of the text in 57 sentences.

N

UNIT VII

l. Read the text. Then read the titles. Which of the following titles is the best.
1. Off Line Services.
2. Online Services.
3. Computer Book Club.
4. Computer Service.

Il Read the text again. Choose the best sentence from the list below to complete each gap.

I’'m frequently asked which online service is ‘best’ but the answer is there is no best. 1 . Price is important to
some people, while the number of files available for download is important to others. Because of these and so many
other different judgments, there can be no absolute. 2 .

Still, users tend to be fiercely loyal to their ‘home’ online service — which is usually the first online service they
everused. 3 . For my part, | like all the services | use and I'm on two dozen.

Each offers one or more products or features that either do not exist elsewhere or are superior to the same fea-
tures on other services. 4



So, the real answer to the question is simple: the best online service is the service that has what you want and
easy for you to use. The point? Keep an open mind when checking out an online service. Judge it based on what it
offers and how it meets your needs — not in comparison to what you’re used to using. (5 ).

Eventually, we’re all going to be interlinked, no matter which service we use, in what DIALOG’S Richard Ream
calls a ‘network of networks’.

Until then, most of us have to go to more than one service to find everything we need.

a) They tend to judge all other online services based on this first service — often preventing themselves from seeing
the advantages of a specific service.

pan.

lll. Decide whether the following statements are true (T) or false (F) in relation to the information in the text.

1. Most people choose an online service because of the price or the number of available files.

2. Everybody has one service which he/she likes more than all the others.

3. Each online service offers one or more products or features that either do not exist elsewhere or are better to the
same features on other services.

4. You should judge each service according to whether it is better or worse overall than the service you are currently
using.

5. Eventually, all services will be accessible from the service you are using.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.
1. service a) a system that provides something for the public.

b) a religious ceremony.



2. judgment ) a decision made by a judge or by a court of law.

) an opinion that you have or express after thinking carefully about something.

) a special article in a newspaper or magazine, or a special program on radio or television.
) a feature of something is an interesting or important part or characteristic of it.

4. article a) a piece of writing in a newspaper or magazine.

b) an article of a formal document is a section dealing with a particular point.

3. feature

T 0O T o

V. Find words and expressions which mean the same as the following.
1. It is a question of,

2.  about twenty-four,

3. examining,

4. suggest,

5.

You have to use the online service at least two times to decide.
VI. Prepare a short written summary of the text.
PART 2

INDEPENDENT READING PRACTICE
FOR FIRST YEAR STUDENTS OF THE FACULTY OF ECONOMICS

UNIT I
l. Read the text. Then read the titles. Which of the following titles is the best?
a) Inflation c) Purchasing Power
b) Budget Imbalances d) Money
The work which people undertake provides them with money. 1 . All values in the economic system are

measured in terms of money. Our goods and services are sold for money, and that money is in its turn exchanged for



other goods and services. Coins are adequate for small transactions, while paper notes are used for general busi-
ness. Originally, a valuable metal (gold, silver or copper) served as a constant store of value, and even today the
American dollar is technically «backed» by the store of gold which the US government maintains. Because gold has
been universally regarded as a very valuable metal, national currencies were for many years judged in terms of the
so called «gold standard». 2 .

Valuable metal has generally been replaced by paper notes. These notes are issued by government and autho-
rized banks, and are known as «legal tender». 3 . They perform the function of substitute money and are known
as «instruments of credit». Credit is offered only when creditors believe that they have a good chance of obtaining le-
gal tender when they present such instruments at a bank or other authorized institutions. If a man's assets are known
to be considerable then his credit will be good. If his assets are in doubt, then it may be difficult for him to obtain large
sums of credit or even to pay for goods with a cheque.

The value of money is basically its value as a medium of exchange or as economists put it, its «purchasing
power». 4 . The demand of money is calculated as the quantity needed to effect business transactions. The de-
mand for money is related to the rapidity with which the business is done. The supply of money is the actual amount
in notes and coins available for business purposes. 5 . . This condition is known as «inflation».

Il. Read the text again. Choose the best sentence from the list below to complete each gap.

a) Nowadays national currencies are considered to be as strong as the national economies which support them.
b) Other arrangements such as cheques and money orders are not legal tenders.

c) Overdrafts may be recalled by the bank at a very short time.

d) People buy essential commodities with money.

e) If too much money is available, its value decreases.

f) It's legal to make untrue statements about goods.

g) This purchasing power is dependent on supply and demand.

lll. Choose the best answer to these questions according to the text.
1. What does the work which people undertake provide them with?
a) clothes, b) money, c) products.



2. What served as a constant store of value?
a) valuable metal, b) paper notes, c) money.
3. What is «legal tender»?

a) coins, b) paper notes;c) credit cards.

4. What does not legal tender include?

a) cheques and money orders,

b) transfer orders,

c) deposits.

5. What is purchasing power depend on?

a) inflation, b) goods, c¢) supply and demand.

IV. Here are some dictionary definitions of the words from the text. Each word has more than one definition.
Choose the definition that fits each of the words in the text best.
1. transaction  a) records of the proceeding of,
b) business operation.
2. business a) task, duty; what has to be done,
b) buying and selling; commerce; trade.
a) assistance;
b)

stock or amount of smth. which is obtainable; stores necessary for some public need

3. supply

V. Find words and expressions which mean the same as the following

1. costly
2. today

3. speed

4. intention
S. clause

VI. Write down key words, phrases and sentences from each paragraph.



VIl. Reduce the text to one fifth of its original length giving the most important information.

UNIT Il

l. Read the text. Then read the titles. Which of the following titles is the best?
a) Accounting system c) Money as Property

b) Money in the U.S. Economy d) The Federal Banks

The quantity of money in an economy is central to determining the state of that economy — it affects the level
of prices, the rate of economic growth and the level of employment. It is a medium of exchange that people will
accept for their goods or services and a unit of account for prices or debts. 1

Money in the United States consists of coins and paper currency. According to federal law, only the U.S. 2 .
The Treasury issues all coins, while the Federal Reserve and the Treasury each issue a type of paper money —
Federal Reserve notes and United States notes, respectively. All U.S. currency carries the nation's official motto «In
God We Trust».

Coins come in various denominations based on the value of a dollar: the penny, one cent or one-hundredth of a
dollar; the nickel, five cents or five-hundredths of a dollar; the dime, 10 cents or ten hundredths of a dollar; the quar-
ter, 25 cents or one-fourth of a dollar; the 50-cent piece or half-dollar; and the one-dollar coin.

Paper money issued in the United States consists almost entirely of Federal Reserve notes, which are issued by
the 12 Federal Reserve Banks in the Federal Reserve System. These notes come in denominations of $1, $2, $5,
$10, $20, $50, and $100.3 .

The U.S. Treasury issues the only other paper money in the United States today, and these notes are is-
sued only in $100 denominations.
4__

Il. Read the text again. Choose the best sentence from the list below to complete each gap.
a) In addition, it can be used like property or precious metals — as a store of wealth that people can save for future
purchases.



b) Until 1969 the Federal Reserve Banks also issued $500, $1,000, $5,000, and $10,000 notes.
c) Advertising enriches our economy.
d) Treasury and the Federal Reserve System can issue U.S. currency.

)

e) The federal income tax is levied on the worldwide income of U.S. citizens and resident aliens.
f) Both United States notes and Federal Reserve notes carry the printed signatures of the secretary of the trea-
sury and the treasurer of the United States.

lll. Choose the best answer to these questions according to the text.
1. What is money?

a) property,

b) a medium of exchange,

C) precious metal.
2.  What does money in the U.S. consist of?

a) credit cards,

b) checks,

c) coins and paper currency.
3.  What federal organizations can issue currency?

a) The U.S. Treasury and the Federal Reserve System.

b) The International Monetary Fund.

c) The Organization for Economic Cooperation and Development
4.  What is the nation’s official motto?

a) «We Believe in Dollar»

b) «In God we Trust»

c) «We Like Our Money»
5.  What denominations are the U.S. Treasury notes issued in?

a) $100, b) $50, c) $1000.



IV. Here are some dictionary definitions of words from the text. Each word has more then one definition. Choose
the definition that fits each of the words in the text best.

1. service a) benefit, use, advantage;
b) system or arrangement that supplies public needs.
2. purchase a) buying;
b) value or worth.
3. currency a) money that is actually in use in a country;
b) the state of being in common or general use.
4. motto a)short sentence or phrase used as a guide or rule of behavior;
b) quotation prefixed to a book or chapter.
V. Find words and expressions which mean the some as the following.
1. standard
2. slogan
3. outlet
4. different
5. exchequer

VI. Write down key words, phrases and sentences from each paragraph.
VIl. Make a written short outline of the text.
UNIT 1l

l. Read the text. Then read the titles. Which of the following titles is the best?
a. Banking System.
b. Commercial Banks.
c. Commercial Banks of Britain.



d. The Bank of England.

A bank is an intermediary between a depositor will and a borrower. The interest rate which the commercial
banks charge borrowers and pay to depositors will be influenced by the interest rate which is quoted from time to time
by the Bank of England, which is, of course, controlled by the British government. If the Bank of England recom-
mends that the interest rates will have to rise then the commercial banks and most other financial institutions will also
raise their interest rates.

A rise in the interest rate will make borrowing more expensive and saving more attractive. 1

The government may use the interest rate (sometimes called the Bank Rate) to regulate the economic climate
of the country. By this we mean that if borrowing becomes more expensive, businessmen will become more reluctant
to borrow and develop their business, but if it falls, then they will probably become more active.

If the economy becomes too active, there is usually a tendency for inflation to occur, and this is usually caused
by too many goods being produced and too much money circulating in the economy.

To combat inflation the government will often raise the interest rate.
2 .There are, of course, other factors which the government must consider before it influences the financial insti-
tutions to raise or lower their interest rates. Banks make a profit by:

1. Making loans to businessmen and private individuals.

2. Charging interest payments on overdrawn accounts.

3. Lending to the money market.

4. Investing in sound shares and securities.

The commercial bank offers its customers accounts of two types: the deposit account and the current account.
The deposit account will probably pay a fixed rate of interest, and will sometimes issue the saver with a bank saving
book. 3 . A cheque book is used to make payments from an account and a paying-in book is used when money
is paid into the account.

Banks will normally give statements to both deposit and current account holders about once every three
months, or more frequently if required by the account holder. 4 :

Money is the commodity that banks sell. A bank seeks to buy money cheaply and to sell it dearly. This is what
the banks are busy doing. Naturally the banks put their money where it brings the highest profit. That is why they al-
ways keep up to date with the market situation by shifting money from one geographical region to another, the banks



activity stimulates progress in industry, construction and agriculture.

Banks are interested in keeping most of their money in circulation so that it should bring them profit. They seek
to reduce their lending rates in order to attract buyers. The cuts in interest rates are more than made up for by an in-
crease in the amount of money in circulation.

In their pursuit of high profit, the banks sometimes get involved in risky operations fraught with bankruptcy. 5
. Every bank is obliged to take out insurance against robbery or bankruptcy lest the clients should lose their
money in any case.

The banks cater to big companies, small companies and to individuals.

Il. Read the text again. Choose the best sentence from the list below to complete each gap.

a) A fall in the interest rate will make borrowing cheaper and savings less attractive.

b) The current account pays no interest.

c) Statements give a detailed account, on a day-to-day basis, of all money and cheques which have either been
paid into account or withdrawn from the account.

d) If the economy were stagnant then the interest rate would probably be lowered to encourage it to expand and
become more active.

e) That is why the government takes measures to minimize the danger of banks going broke.

lll. Choose the best answer to these questions according to the text.
1. Who is the bank an intermediary between?

a) a depositor and a creditor,

b) a depositor and a borrower,

c) a depositor and a lender.
2.  What is the Bank of England controlled by?

a) Partnerships,

b) the British government,

c) the commercial banks.



3. In what way will a rise in the interest rate affect savings?
a) Make less attractive,
b) Make impossible,
c) Make more attractive.

4. What will businessmen do if borrowing becomes more expensive?
a) Become more reluctant to borrow,
b) Become more active,
c) Become indifferent.
5. How often will banks give statements to deposit and current account holders?
a) about once every three weeks,
b) about once every three months,
c) about twice every three months.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.
1. commodity  a) bulk-produced agricultural products such as coffee, tea and rubber exchanged in trade.

b) any article exchanged in trade.

2. profit a) advantage or good obtained from something.
b) money gained in business.
3. share a) one of the equal parts into which the capital of a company is divided, entitling the holder of the

share to a proportion of the profits.
b) part or division which somebody has in, receives from, or gives to, a stock held by several or
many persons, or which he contributes to a fund, expenses, etc.

4. interest a) condition of wanting to know or learn about something or somebody.
b) a sum paid for the use of borrowed capital, usually expressed in terms of a rate or percentage of
the capital involved (the interest «rate»), which is normally higher when the risk (including the prob-
ability of inflation) is greater.



V. Find the words and expressions which mean the same as the following.
d) stock
e) inert
f) bill
g) to put
h) owner

VI. Write down words, phrases and the key sentences from each paragraph.
VIl. Reduce the text to one fifth of its original length preserving the most important information.
UNIT IV

L Read the text. Then read the titles. Which of the following titles is the best?
Modern Information Technology.

Interest Rates and Currency Exchange.

The Interaction of Supply and Demand.

a
b
C
d) Stock Market Prices.

)
)
)
)

Modern information technology had led to news being transmitted worldwide quicker than even before. Time dif-
ference around the world means that financial news is being made twenty-four hours a day, and it is this amount of
readily accessible information that serves as a basis for many of the business decisions that are made concerning in-
ternational banking and financing.

Techniques of analysis are applied to information to determine its implications and try to discern trends in the
future.

Many prices are determined by a complex interaction of factors. With regard to currencies it may be said that
one fact governing process is the interaction of supply and demand. Interest rates prevailing in different countries af-



fect currency exchange rates.1 . The dollar will therefore fall in value, while the price of sterling will rise.

Trade between countries may also affect currency rates. If, say, Japanese exports to Germany rise, and Ger-
man exports to Japan remain the same, there will be an increase in the supply of Deutschmarks as Japanese expor-
ter sells them for dollars. 2

Government intervention may also affect exchange rates. If sterling is weak for instance, the Bank of England
may enter the market to buy sterling with some of its reserves of other currencies. 3 .

Stock market prices in a particular country are often affected by stock market prices elsewhere in the world, and
markets tend to move together, as indicated by the worldwide crash in the autumn of 1987. The share price of any
one company will obviously tend to be influenced by the financial performance of the company details of which are re-
leased at various times during the financial year.

The factor of supply and demand mentioned will also tend to affect commodity prices. 4 . The over-
production of oil, on the other hand, will lead to a fall in the price of the commodity, since there will be a glut of oil
available on the market.

Il. Read the text. Choose the best sentence from the list below to complete each gap.

. This will normally increase the value of the Yen in relation to Deutschmarks.

They will then sell dollars for sterling, and the demand for sterling will rise, while at the same time the supply of
dollars will rise too.

This will reduce the supply of sterling, thereby increasing its value.

A bad coffee harvest in Brazil will increase the price of coffee because demand will exceed supply.

The bank charges interest on a daily basis.

Lend is the opposite to borrow.

N —

2

lll. Choose the best answer to these questions according to the text.
1. How long is financial news being made?

a) twelve hours a day,

b) twenty-four hours a day,

c) ten hours a day.



2. What do interest rates affect?

a) currency exchange rates,

b) techniques of analysis,

c) news being transmitted worldwide.
3. What affects currency rates?

d) trade, b) a partnership, c) a sole proprietorship.
4. What will happen if US investors sell dollars for sterling?

a) the demand for sterling will fall,

b) the demand for sterling will rise,

c) the demand for sterling will remain the same.
5. When was the world crash?

a) in the autumn of 1978,

b) in the autumn of 1988,

c) in the autumn of 1987.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose
the definition that fits each of the words in the text best.
1. exchange a) the giving and receiving of the money of one country for
that of another.
b) place where merchants or financiers meet for business.
2. demand a) act of demanding.
b) desire of by people ready to buy, employ, etc. (for goods,
services, etc.).

3. currency a) money that is actually in use in a country.
b) the state of being in common or general use.
4. reserve a. military forces kept back for use when needed.

b) something that is being or has been stored for later use.



V. Find words and expressions which mean the same as the following.
a) ruin

b) transfer
c) foundation
d) to use

e) predomination

VI. Find key words, phrases and sentences which best express the general meaning of each paragraph.
VIl. Using the information obtained make an outline of the text.
UNITV

l. Read the text. Then read the titles. Which of the following titles is the best?
a) The Stock Exchange.
b) Stock Prices.
c) The Bank of England.
d) Market Operations.

A maxim which should be followed by all investors is 'buy at the bottom and sell at the top'. Prices of all stocks
fluctuate from time to time, and the art of speculation is to buy securities at the best time. It is not as easy as it sounds
for two reasons. First, it is as difficult to know when share prices have finished falling as it is to know when they have
reached their peak. Second, the maxim assumes that the speculator is in a position to take the necessary action. 1
The Stock Exchange is a highly sensitive market and stock prices fluctuate in response to a wide variety of
pressures. Speculators should always be looking to the future and attempting to anticipate events. For example,
businesses are interdependent to a large extent and will be affected by the general economic climate. Orders for
ships lead to orders for steel which in turn leads to money in the pocket of shipbuilders and steel-workers to buy tele-



vision sets and carpets. 2

Speculators pay attention when the Chancellor of the Exchequer introduces his Budget. This is the time when
tax rates are changed, future government spending patterns are declared and the effect of the changes on their se-
curities can be gauged.

The government also promotes its policies through the Bank of England, perhaps using the government broker
to conduct open market operations. 3 . This will pressurize the banking system to raise interest rates with the ef-
fect of reducing inflation. The government broker buying government stocks will have the opposite effect, lowering in-
terest rates and reducing unemployment.

All these things will affect the price of shares on the Stock Exchange, as will the fact that some political parties
are seen as more sympathetic to business interests. 4

Il. Read the text again. Choose the best sentence from the list below to complete each gap
a) Conversely, the closing of a motor assembly plant causes a fall in the sale of beer which increases the number
of redundancies this time in the breweries.
b) For example, funds may not be available for a purchase at the vital moment.
c) Prices will be particularly sensitive at the time of parliamentary elections.
d) Government stocks are sold when the government wants to reduce the supply of money.
e) | will be informed about the right issue.
f) They will be offered new shares.
lll. Choose the best answer to these questions according to the text.
1. What is the art of speculation?
a) to buy securities at the worst time,
b) to buy securities at the best time,
c) to buy securities at any time.
2. What is the Stock Exchange?
a) not a market,
b) an insensitive market,



c) a highly sensitive market.
3. What does the Chancellor of the Exchequer introduce?
a) the code,
b) his Budget,
c) share prices.
4. What is sold when the government wants to reduce the supply of money?
a) government stocks,
b) private stocks,
c) IBM shares.
5. How does the government promote its policies?
a) through the code of laws,
b) through speculators,
c) through the Bank of England.

IV. Here are some dictionary definitions of words from the text. Each word has more than one definition. Choose the
definition that fits each of the words in the text best.

1. to invest a) surround a fort, town, etc. with army forces.
b) put money in.
2. price a) sum of money for which something is sold or bought.
b) value, worth.
)

3. to speculate a) consider, from opinions (without having complete knowledge).
b) buy and sell goods, stocks and shares, etc. with risk of loss and hope of profit through changes in
their market value.

4. securities a) something that provides safety, freedom from danger or anxiety.
b) document, certificate, etc. showing ownership of property (especially bonds, stocks and shares).

V. Find words and expressions which mean the same as the following.
d) top



e) place

f) buying

g) vitally important
h) to oscillate

VI. Write down the possible headlines which best express the main idea of each paragraph.

VIl. Reduce the text to one fifth of its original length providing the most important information.



Tabnuua 1
Ob6pas3oBaHne MHOXECTBEHHOIO Yncna CyLweCcTBUTESNbHbIX

EonHcTBeHHOe | MHOXECTBEHHOE | MpuMeYaHne

4YnCno 4YUCIO

A desk Desks [s] [Tocne rmyxmx cornacHbIX —S MPoOu3Ho-
cutcs [s]

A room Rooms [z] [Tocrie rmacHbIX N 3BOHKMX COrfTacHbIX —
S NPOM3HOCUTCA [Z]

A box Boxes [iz] [Mocne wWnnNAWMX N CBUCTALLUX —€S
Npou3HocUTCS [iZ]

A story stories [Z] [Mpn npubaBneHnn —s —y B KOHLE crioBa
nocne cornacHelx nepexoaut B —|

A day days [Z] [Tocne rnacHbIX USMEHEeHN He NpPouc-
xogouT

A knife knives [naivz] Mpn npnbaBneHnm —s KoHeuvHble —f, -fe

A loaf loaves [louvz] nepexoasT B —ve

A tomato tomatoes -0 Mocrie corfnacHom

A zoo Z00sSs -0 rocrie rnacHom




Ocobble crnyyan obpasoBaHMA MHOXECTBEHHOIO YMCIia UMEH CYLLECTBUTENbHbIX

EOnHCTBEHHOE YMCho MHoXeCcTBeHHOe 4Yncno
Man [maen] My>X4nHa, YenoBek Men [men] MyX4uHbl, noan
Woman [‘'wumoan] xeHLnHa Women [‘'wimin] XXeHLWMHbI
Foot [fu:t] oyT; cTynHA Feet [fi:t] yTbI, CTYNHNM
Tooth [tu:0] 3y6 Teeth [t1:0] 3yObl

Child [t/aild] pe6eHok Children ['tildron] oetu

CDOprI cywieCTBUTESIbHbIX JTATUHCKOIO 1 rpe4v4eCcKkoro nponcxoxgeHn4

Analysis [0 neeldsis] aHanus Analyses [0 neeldsi:z] aHanu3bl

Basis ['belsis] 6a3uc, ocHoBa Bases ['beisi:z] ocHOBbI

Crisis ['kraisis] kpusuc Crises ['kraisi:z] kpn3uchl

Datum ['deitom] gaHHaqa BenunumHa | Data [['deltd] naHHble, oaHHas Be-
nnymHa

Phenomenon [fi'n mindn] sBneHne | Phenomena [fi'n mind] asneHuns

Index ykasatenb Indexes ["Indoksiz] HaeKchl
Indices [['Indisi:z] yka3aTtenu

CyliecTBUTENbHbIE, UMEIOLLIE OAHY DOPMY €AUHCTBEHHOIO N MHOXECTBEHHOIO Yncna

Series ['si0ri:z] cepus, pag Series cepun, psgbl
Means cpefnctBo, cnocob Means cpefctBa, cnocobbl




n pVITﬂ)KaTeanbIﬁ nagex cyuwectBuTenbHbLIX

l. O6pa3oBaHune

EonHcTBEHHOE Yncno

MHOXecTBEeHHOEe 4Yncno

The student’s translation
[lepeBon CTyoEeHTOB

The students’ translation
nepeBoabl CTYAEHTOB;
the men’s book

KHUTU MY>XXYNH

Il. YnoTpebneHune

MputspkaTenbHbIA Nagex ynotpebnsaercs ¢ MeHaMu CyLLLeCTBU-
TenbHbIMK, 0603HaYaOLLUMU:

1) opylweBneHHble NpegMeThbl

The scientist’s research
NccnepoBaHue y4eHoro

2) NPOMEXYTOK BPEMEHW, pacCTOAHME,
Ha3BaHuWe CTpaH, ropoJoB, MeCALEB,
BpeMeH roga (winter, summer)

3) HEKOTOPbIE NOHATUS:
country, nature, world, earth,
sun, moon, war u gp.

A mile’s distance paccTosiHue B ogHy
munto; Scotland’s pollution HaceneHue
LLloTnanguu

The country’s resources pe-
CYPCbl CTpaHbl




NMnyHble n npuTAXaTtenbHblie MECTONMEHUA

PucyHok 1
Tabnuuya 2

EpnHcTBEHHOE Yuncno

n JIn4yHblEe MECTONMEH S [TputskaTenbHbIE MECTOUMEHNS
n IMeHuTenbHbIN Na- O6bekTHbIN Na- I popma Il dopma
L aex aex
o] Ynotpebndaetca B po- | Ynotpebnsaetca B | Ynotpebnsercsa nepeq cywecteu- | Ynotpebnsercs ca-
nn nognexatuero ponn OOMNOMHEHUS | TENbHBLIMA MOCTOATENBHO 6e3
CYLLLECTBUTENBHOIO
1-e || q Me MeHs, MHe My Mo ) -
2-e |You Tbl, Bbl You Tebq, Tebe, | Your TBOS, mine
Bac, Bam room  Bawa KOMHa- yours
3-e | He OH Him ero, emy His e ero >Ta This 9 his
She oOHa Her ee, en Her ee is | hers
It OH, OHa, oHO | It ero, emy, Its ) ero, ee ) room _its
(obo3Ha4vaeT Heoay- ee, en

LLIEBIIEHHbIE Npeame-
Thl, KOTOPbIE B @Hr.
A3bIke HE MMEIOT POo-

na)

(MmeroTCcsa B BUAOY
Heo4yLWeBNEeHHbIE
npeameThbl)

(N8 HeoyLWweBrIeHHbIX Npegme-
TOB)




MHoXecTBeHHOEe Yucro

1-e

3-e

We Mbl
You Bbl
They OHU

Us HaM, Hac
You Bac, Bam
Them ux, um

(obo3HavaeT U
OflyLWEeBIIEHHbIE, U
HeoLyLeBEeHHbIE
npegmeThbl)

Our Hawla KOM-
Your room Bawa HaTa
Their nx

(NS oayLweBneHHbIX U HeoayLIEeB-
NEHHbIX NpeaMeTOB)

This

room

is

ours
yours
theirs




Yka3atenbHble mecTtoumeHus this (these), that (those)

Tabnuua 3
uncno Onpepenenve | MNMognexaiyee CnoBo-3amMmeHuTernb
atot | This book is This is my book.
This { aTa mine. OTO MOS KHUra.
3TO OTa KHura
MOS.
§ TOT That book is That is his book. During the Great Patriotic War there were several ex-
z That { Ta his. OTO ero KHura amples of self-sacrifice similar to that performed centu-
m TO Ta kHura ero. ries'ago by lvan Susanin.
Q Bo Bpemsa Benukon OTevecTBEeHHOW BOVHbI Bb1510 MHO-
= ro NpMepoB NoaBUros, NogobHbIX noasury CycaHuHa,
L COBEpPLLUEHHOMY HECKOSbKO BEKOB Hasap.
These atn These books | These are my The country is rich in mineral resources. However

MHoOXecTBeHHOoe

(3TO)

are mine.
OTU KHUTU —
MOMW.

books.
OTO MOU KHUI.

these are in the hands of foreign corporations.
CTtpaHa 6orata nonesHbiMn nckonaemoiMn. OgHako
OHW HaxogAaTCA B pyKax MHOCTPaHHbIX MOHOMOSUA.




Te Those books
(aTK) { are his.
Those Te kHurm —

Those are his
books.
OTO ero KHuruw.

The successes of the industry stand out even more
clearly when comparing its growth rates with those of
other countries.

TO ero.

Ycnexu NpoMbILLNEHHOCTN CTaHOBATCA Aaxe bonee
OYeBUOHLIMW, ECAN CPABHUTbL TEMIMbI €€ pocTa C TEM-
namMu pocTa NMPOMBbILLITEHHOCTU APYrUX CTPaH.

BOHpOCMTeanbIe n oOTHOCUTEJIbHbI€e MEeCTONMEeHUA.

Tabnuua 4

Bon pocuTeribHbieé MEeCTONMEeHUs

OTHOCUTENbHbIE MECTOMMEHUSA

WHO translated this article? The student WHO translated this article...

KTO nepesBen 3Ty CTaTbio? CTyaeHT, KOTOPbIN | nepesén 3Ty cTaThHO. ..

WHOSE | research is that? The scientist WHOSE research is mentioned...

YbE 3TO uccnegosaHue? YyeHbIi, YbE nccregoBaHne ynoMmHaeT-
cs...

WHOM will you deliver your lecture to? The students to WHOM you will deliver your lecture...

KOMY Bbl MpOYUTAETE NEKUUN0? CTyaeHThI, KOTOPbIM | Bl npoynTaeTe nekumio. ..

WHAT has happened? Nobody knows WHAT has happened.

4TO Crny4unocb? HukTO He 3HaeT. 4TO CNy4mnocs.

WHAT are the mineral resources of the Experts did not know WHAT the mineral resources of this

country? country were.

KAKOBbI | nonesHble nckonaemble cTpaHbl? QkcnepTbl He 3Hanu, KAKOBbI NnonesHble Nckonaemble 3Tow
CTpaHbl.

WHAT help will you give us? | will give you WHAT help | can

KAKYIO | nomollb Bbl HAM OKaxeTe? A okaxxy BaM Ty NOMOLLIb. KAKYIO TONbKO CMOrYy OKasaTb.

WHICH of the articles interests you most? The task WHICH the students carried out...




KOTOPAS
(KAKAS)

N3 ctaTen nHTepecyet Bac bonbLue
BCero?

3apaHue,

KOTOPOE

BbINOJIHUIN CTYOEHTHI. ..

Lomonosov was the greatest | THAT the world has ever know.
scientist
NomoHocoB 6bin Benuyanwunm | KOTOPOTO | korpga-nmu6o 3Han mup.

YYEHbIM,




Mectoumenunss MUCH, MANY, FEW, LITTLE

Many mMHoro
mMano

Ncuncnsemble cywiectBuTEsibHbIE

oAyLLeBrneHHble

HeodyLleBI1€HHbIe

Much  mHoro
Little Marno

Heuncuncnsemeole cywiectBuTEsbHbIE

Ha3BaHune BellecTB

ABCTpaKkTHbIE MOHATUSA

Many students
MHoro cTtyoeHToB

Few people
Mano nogen

Many factories
MHoro ¢pabpuk

Few buildings
Mano 3gaHuu

Much steel

MHoro ctanu

Little air

Mano Bo3gyxa

Much work
MHoro paboTbl
Little work
Mano paboTbl

PucyHok 2



Tabnuuya 5
MecTtonmeHue IT

1. llnyHoe (OH, OHa, OHO — 3ameHseT
HeoyLleBNEeHHOE CyLLeCTBUTEITbHOE)

1. Though Pinsk is an industrial city it does not know smog.
XoT14 NMUHCK — NPOMBILLAEHHBIV FOPO[, OH HE 3HAEeT cMora.

2. YKkasaTenbHoe (370)

2. In the North we are building everything that people need for normal life and work. It
is an expensive business and technically very complicated.

Ha ceBepe Mbl cTponM BCe, 4TO HeobXxoauMO NaaM ANs HOpManbHOW XU3HU 1 pabo-
Tbl. TO AOPOrocTosiee N TEXHUYECKU O4EHb CNOXHOE Aerno.

IT

3. beanuyHoe
(He nepeBoguTCs)

3. It is important to note that in Belarus shorter hours do not mean less wages.
BaxHo oTmeTuTb, 4TO B Benopyccun 6onee kopoTkasa paboyas Heagens He o3HayaeT
CHWXeHWs1 3apaboTHOW nnaThbl.

4. YeunnutenbHoe (Itis ... that —
WMEHHO, KaK pas3, TONbKO)

4. It is the peace policy of our republic that has such an influence on the peaceful in-
ternational cooperation.
MmeHHO MupontobrBasa NoONUTMKa Hawen pecnybnmkn okasbiBaeT Takoe BNNAHNE Ha

ocyujecTtBliieHe MMPHOIro MexxgyHapogHoro coTpygHmnm4ecTBa.

Tabnuuya 6
ONE

ONE

1. HeonpepeneHHO-NNMYHOE MeCTO-
MMeHue (He nepeBoaunTCA)

one + may, can MOXHo, must, ought HyHo, should cnegyeT.
One can spend days in the Hermitage in St Petersburg.

MoxHo npoBecT MHOro aHen B Apmutaxe B CaHkT-lNeTepbypre.
It was in agriculture that one could see the extreme backwardness of that country.
MIMeHHO B CenbCKOoM X035IMCTBE NPOSIBNSANAach UCKNOYMTENbHAsA OTCTanocTb TOM CTpa-
Hbl.

2. CnoBo-3amMeHUTENb (NEpeBoanT-
Cs1 COOTBETCTBYHOLLMM CYLLECTBU-
TenbHbIM UINK He NepeBoaUTCH BO-
obue)

The efficiency of the new method is much higher than the efficiency of the old one. It
differs greatly from the one used at our enterprise.

AP PHEKTUBHOCTb HOBOIO METOAA 3HAUYMTENBHO BhiWe, YeM 3(PPEKTUBHOCTL CTAPOro
mMeToaa. OH 3HaYMTENbHO OTNIMYaeTCsa OT MeToAa, MPUMEHSEMOro Ha HalleM npeanpu-
ATUN.

3. YuncnutenbHoe oOuUH

One swallow does not make a summer.




\ OpHa nacTtoyka BecHbl He fgenaeT. ([Mocnosuua)

Tabnuua 7

Mectonmennsa SOME, ANY, NO 1 ux npousBogHble

Some, any, no + thing (He- +body +one +where Mpumepsl
ogyul.) (0 yenoseke)
SOME HekoTto- | Something Somebody, someone Somewhere They sent some letters to for-
pbIi, Kakon-to, | YTo-TO, YTO- KTo-TO, KTO-HMBYAL ne-To, rae- eign firms yesterday.
Kakow-HmbyAb, | HMbYAb HUBYAb, KYAA- | Oy oTNpaBMNM HECKOMBKO NNCEM
o HECKOIbKO T0, Kyhia- MHOCTPaHHLIM cbrpMam BYepa.
4 HNBYab
é & ANY Anything Anybody, anyone Anywhere The CMEA is open to any country
S 3 Bcakun, ntobon | Bee Bcsakun, Bce Besage, no- ready to accept the aims and principles
= & BCloay of the organization.
S5 Bcrynnenve B COB BO3MOXHO AN
Qo nobon cTpaHbl, FOTOBOW MPUHATL Lienu
> E 1 NPUHLUMNBI OpraHM3auun.
Iy ANY Anything Anybody, =~ anyone Anywhere Does the country buy any equipment
é 5 Kakon-Hnbyab YT0-TO, YTO- KT0-T0, KTO-HMOBYAb pe-To, kyaa- | from foreign firms?
o5 HNByab TO, rae- MNMokynaeT nu ata ctpaHa obopynosa-
39 HWByaOb, KyAa- | HAe Y MHOCTPaHHbIX (hupmM?
g c HWMOYAb
cCOx
R
NO = not any Nothing=not... *| Nobody= no one, Nowhere = No city of the world can boast of the
b Hukakon, Hu anything Not... not... purity of its atmosphere as Minsk.
3 =t OAVH Huyto, HU4ero | anybody anywhere Hv oamH ropoa Mupa He MoxeT no-
o o Hukto Hurge, HUKY- | XBacTaTbCA TaKoOW YNCTOTOM aTMO-
g cZ na cdpepbl, kKak MUHCK.
233
O I X




CTeneHu cpaBHeHMA npunaraTeribHbIX U Hape4Yuun

[Mpunaratens-
Hble

MonoxuntenbHasa
CTeneHb

CpaBHUTENDb-
Hasa cTeneHb

[MpeBocxogHas cre-
NeHb

1. OgHOCnOX-

Shot - kopoTkun

Short — kopoue

(the) shortest —

Hble Early - paHHui, (6onee KpaTyanwunmn, cambin

2. AByxcnox- | paHo KOPOTKUN) KOPOTKUI

Hble Ha —er, -y, Earlier —6onee | (the) earliest — ca-

-ow, -le paHHWN, MbIA paHHUI
paHbLle

MHorocnox- Important - Baxx- | More important | (the) most important

Hble HbIN — BaXHee (00- | — BaxHenwwun, ca-
ree BaXHbIN) MblA BXHbIW

Ucknwo4veHna | Mash — mHoro More -6onblue | (the) most — Han-

Man
Little - mano

Good - xopoLunn
Well - xopoLuo

Bad - nnoxon
Badly - nnioxo

Less - MeHbLue
Better - nyu-
Lwnn

Worse — xyp-
LW, XyXKe

bonbLunn, bonbLle
BCEro

(the) least — Hau-
MEHbLUNN, MEHbLLE
BCEro

(the) best — cambin
nyywun,
(Han)nyywumn, nyy-
LLue Bcero (Bcex)

Tabnuua 8



NNOXOMW,

BCcero (Bcex)

(the) worst — cambii

(Han)xyawum, xyxe

YcuneHue cteneHen cpaBHEHUSs1 npunaratTenbHbIX

YcuneHue cteneHen CpaBHeHUSA npunaratesnibHbIX:

a) B NONOXUTENbHON CTENEHMU

a most difficult - (kpaniHe) B BbICLUEN CTENEHU TPYOHbIN
ever so interesting - Ype3Bbl4aHO NHTEPECHbLIN

only too glad - oMeHb 4OBOSbHbIN

0) B cpaBHUTENIbHOW CTENEeHU

much more advanced - 3HaunTenbHo (ropasno) 6onee nepegoBble
a great deal faster - ropa3go 6bicTpee

still easier - ewe nerye

an ever greater scope -3HauuTenbHO 60nbLIOK pa3max

far better - HamHoro nyJwe

(all) the more complicated - eLue crnoxHee

no better - HUCKONBLKO He ny4Lle

not any clearer - HUYYTb He sicHeN

B) B NPEBOCXOAHOWN CTENEHU

by far the best - 3HaunTENLEHO NPEBOCXOAALLNN

the nearest ... possible GnmkanLwny ... - KAKOM TONbKO BO3MOXEH

the cheapest ... to be found - cambI geLwleBbIN ... KAKOW TONBbKO MOXHO HaNTK

Tabnuua 11



Ta6bnuuya 10

CpaBHUTeNbHbI€ KOHCTPYKL UM

KoHCcTpyKumA [lepeBon YnotpebreHue [Mpumep

C coto3om Takown xe ...kaK, | B yTBepautenbHbIX To judge by the number of people for whom it is the

as...as TaK Xe ... KakK npeanioKeHnsIx staple crop, rice is as important a food crop as wheat.
Ecnu yynteiBaTh KONMYecTBO notpebuTtenen puca Kak
OCHOBHOIO CeJIbCKOXO3IMCTBEHHOIO NpoayKTa, TO OH
SABNSAETCH TaKUM Xe BaXKHbIM, KaK MeHnua.

C coto3om He Takom ... kKak, | B oTpuuatenbHbIX Old enterprises were usually not so spacious and well-

not so ...as He TaK ... KaK NpeanoXeHnsax equipped as new ones.
Crapble npegnpuatnsa obbl4HO He ObINu Tak NPoCcTo-
PHBI U Xopowo 06opyaoBaHbl, Kak HOBbIE.

C coto3om Uem (MmoxeT [Mocne cpaBHuTEnbHOM | Rice, which is grown mainly on irrigated land, is a

than OonycKaTbCs) cTeneHun much more productive crop than wheat for certain re-
gions.
Pwuc, koTopbi pacTeT rnaBHbiM 06pa3am Ha NONMBHbIX
3eMnisix, - ropasgo bonee npoussoauTenbHas ceslb-
CKOXO35MCTBEHHAA KyrnbTypa A1 HEKOTOPbIX perno-
HOB, YeM MLeHnLa.

The (bigger) Uem ... Tem The + npunaratenoHoe | The bigger the plan of an enterprise the bigger the

... the (bigger)

(Hapeuune) B cpaBHU-
TENbHOW CTEMNEHU ... +
the + gpyroe npunara-
TenbHoe (Hape4une) B
CpaBHUTESIbHOM CTerne-
HU

profit it gets.
Uem Gonblie nnaH npeanpusatnd, Tem bonblue npu-
Oblfb, KOTOPYKO OHO MoNy4vaeT.
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